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Question Number : 1 Question Id : 7773932907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing term in the following series.

'Apple, Application,  , Approval, Apricot, April’
Options :

1. # Arrogant

2. % April

3. ¥ Appropriate

4. % Apwary

Question Number : 1 Question Id : 7773932907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad gae & du ug &1 99 it
'Apple, Application, , Approval, Apricot, April'
Options :

1. # Arrogant

2. % April

3. % Appropriate
4. ¥ Apwary

Question Number : 2 Question Id : 7773932908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

NM, PK, SI, ?
Options :
1. % VE
2. % WF
3. ¥ VG
4. ¥ WG

Question Number : 2 Question Id : 7773932908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 9G4 BY, Sl FaferiRad g & save s

NM, PK, SI, ?
Options :
1. % VE
2. % WF
3. % VG



4. ¥ WG

Question Number : 3 Question Id : 7773932909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

X, U,S,PN, K, ?
Options :

1.¥1

2.% L

3. M

4. % Q

Question Number : 3 Question Id : 7773932909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 99 Dy, Sl FREfeiRad gaer o ST S|

X, U, S,P,N, K, ?
Options :

1.¥1

2.% L

3. M

4. % Q

Question Number : 4 Question Id : 7773932910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series.

AAZ, CEX, EIU, GOT, IUR
Options :



1. ¥ EIU
2. % GOT
3. % AAZ
4. = CEX

Question Number : 4 Question Id : 7773932910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad saen ¥ Tad ug I1d Sioe |

AAZ, CEX, EIU, GOT, IUR
Options :
1. ¥ EIU
2. % GOT
3. % AAZ
4. % CEX

Question Number : 5 Question Id : 7773932911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Spacecraft: Hangar : : Car : ?

Options :

1. ¥ Garage

2. % Zoo

3. % Automatic
4. * Stables

Question Number : 5 Question Id : 7773932911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fadh ey T 99 B 1 iR UG 9 I41 ae ¥ Tfid & fo UoR g¥R1 U Ugd Ug I Iwifed g |
3{dRe M: faHTI=Iet : - HR:2

Options :
1. ¢ IR
2. % 3 E_EIIW

3. % Taafeld
4. % LIS

Question Number : 6 Question Id : 7773932912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

FUMBLE : IXPEOH :: CIRCLE : ?
Options :

1. ¥ FMUGOH

2. ¥ FLUGOH

3. ¥ FLVFOH

4. ¥ FLUFOH

Question Number : 6 Question Id : 7773932912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed gy , idu e faswedl & @ Hefid siarl &1 9o &3 |
FUMBLE : IXPEOH :: CIRCLE : ?

Options :

1. ¥ FMUGOH

2. % FLUGOH

3. ¥ FLVFOH

4. ¥ FLUFOH



Question Number : 7 Question Id : 7773932913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word/letters/number from the given alternatives.

Head: Human Body : : ?

Options :

1. ¥ Arc : Circle

2. % Cube : Circle

3. % Square : Circle
4. # Triangle : Circle

Question Number : 7 Question Id : 7773932913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7 fahedl ® T Hefdd Wea/SaRl/=A H1 AT/
RR:AMa (R : : 2

Options :

1. ¥ dU:dd

2. % Yd:9d

3. % aTTQT‘T

4. % PYS . gq

Question Number : 8 Question Id : 7773932914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter/letters from the given alternatives.

EFG:VUT :: KLM:?



Options :
1. * KJH
2. % PON
3. % ZXY
4. % PDC

Question Number : 8 Question Id : 7773932914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy o fau M faeedl O 9 Haiferd sier/sierl &1 gi-u|

EFG: VUT::KLM:?
Options :
1. % KJH
2. ¥ PON
3. % ZXY
4. % PDC

Question Number : 9 Question Id : 7773932915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, "I have car" is written as "na pa ba", "car is black" is written as "lo za na" and "door is black" is written as "lo cm za".
How is "door" written in that code language?

Options :
1. ® lo
2. % pa
3. % ba
4. % cm

Question Number : 9 Question Id : 7773932915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Udh ffaa W HIYT ﬁ, "I have car” &I "na pa ba" &% =g T forer Srdn %, "car is black" @1 "o za na" & =T H feRdl STl % 3R "door is
black" @1 "lo cm za" & & T AT SITAT 8 | I Hfed NI H "door " T foraT I 82

Options :
1. % lo
2. % pa
3. % ba
4.9 cm

Question Number : 10 Question Id : 7773932916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If CLEAN is coded as 1415123 and BLOW is coded as 2315122, then how will JOKE be coded as?
Options :

1. # 1011155

2. % 5111510

3. % 5121611

4. % 4111612

Question Number : 10 Question Id : 7773932916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg CLEAN @1 1415123 3R BLOW &1 2315122 & =0 H Sfed fa1 a1 8, 9l JOKE & 4 Hfed forar smem?
Options :

1. % 1011155

2. ¥ 5111510

3. % 5121611

4. % 4111612

Question Number : 11 Question Id : 7773932917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘5768’ means ‘we won the match', ‘6591’ means ‘the match was draw’ and ‘7813° means ‘was we won game’ then what is the word



represented by the digit <3°?
Options :

1. % We

2. % Won

3. ® Draw

4. ¥ Game

Question Number : 11 Question Id : 7773932917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

zﬂ% '5768' BT HY ‘we won the match' %: 6591 BT 3 “the match was draw’ % 3‘ﬁ? 17813 BT 31 ‘was we won game’ %’ aq 3 <3 aRT
it fosar 7T eg B 82

Options :

1. % We

2. % Won

3. ¥ Draw

4, % Game

Question Number : 12 Question Id : 7773932918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language, the word ALPINE is coded as VMRKOZ. Then, how will the word DENOTE be coded in the same language?
Options :

1. * WVMLSV

2. % WVMLGV

3. ¥ VGLMVW

4. % VGLLVW

Question Number : 12 Question Id : 7773932918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fareit fAf3d e WTWT &, “ALPINE” &1 “VMRKOZ” & =0 H fora1 ST 8, St Foe NI &, “DENOTE” ! ford UHR forar Srem?



Options :

1. * WVMLSV
2. % WVMLGV
3. ¥ VGLMVW
4. % VGLLVW

Question Number : 13 Question Id : 7773932919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 women — Ginni, Rashi, Priti, Hina and Lily join a Gym. Each of them has a different weight. Ginni weighs the least of all. Priti does not weigh
the maximum and there are exactly two females heavier than Lily. Hina is heavier than only one woman. Who is the second heaviest?

Options :
1. # Lily
2. ¥ Priti
3. # Rashi

4. * Hina

Question Number : 13 Question Id : 7773932919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 Ay - e, wr=ft, hfa, B ok foreh ues fom & 2nfiret 81 €1 396 3 Ude o1 aoid 31T & | el &1 9o 9o o1 g | Hifd &1 aoe
TeY 31feep 8l § 3R foreht &t o § adt of Afeay YR §1 31 Pad Ue Afee ¥ U 81 S¥RT Jad HRY I 82

Options :
1. % foreit
2. ¢ Tifd
3. % il
4, % g0

Question Number : 14 Question Id : 7773932920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a cycle stand Atlas is 9th from left and Hero is 11th from the right. They both interchange their positions. Now Atlas becomes 15th from the



left. How many cycles are there in the row of a cycle stand ?
Options :

1. % 23

2. % 21

3.9 25

4. % 24

Question Number : 14 Question Id : 7773932920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UTsfd WS H Tead U ¥ 9 d 3R ERI G Y 11 d *M W 31 &I 30 RIH P 96d od & | 3d Teay 15 3R ¥ 15 6t g1 SfTal 3|
TEferd We &t Ufdd H o fara-t Arsfbra g 2

Options :

1. % 23

2. % 21

3.9 25

4. % 24

Question Number : 15 Question Id : 7773932921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row, E is sitting between D and A. B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting
third from the left?

Options :
l1.* D
2.% A
3. B
4. ¥ E

Question Number : 15 Question Id : 7773932921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.* D

2. % A

3.%B

4. ¥ F

Question Number : 16 Question Id : 7773932922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends A, B, C, D, E and F are sitting around a round table facing the centre. A sits second to the right of B, E sits second to the left of C. B
doesn't sit adjacent to E.D does not sit opposite to E or C. Who sits to the immediate left of E?

Options :
1.¥ A
2.% B
3. % C
4. %D

Question Number : 16 Question Id : 7773932922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. A, B, C, D, E 3R F U MATHR A9 & IR AR HAHE GIHR 93 5l A, BH G R WM R I3dT 8| E, C F I GO »_ITFT W
dGAT g1 B, E % S H 6 931 51 D, E 37T C & f[JuRId g1 961 5| E & Mabedd 1 ®RIM IR S d6dT 52

Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 17 Question Id : 7773932923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Pointing to a woman in a photograph a man says, “She is the only daughter of my wife’s mother-in- law”. How is the woman related to the man?
Options :

1. * Daughter

2. % Wife

3. ¥ Sister

4, % Sjster-in-law

Question Number : 17 Question Id : 7773932923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gﬁﬁaﬁwmﬁmm‘@wﬁm%l“%ﬁﬂqﬁﬁalaﬁwm?ﬂ%”lww%wmwwﬁ@rwﬁﬁa
9

Options :

1. %

2. % Uit

3. ¥ dg-

4. % il

Question Number : 18 Question Id : 7773932924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In each question below, three statements are given followed by two conclusions numbered I and I1. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

All drops are not decrease.
Some decrease are replace.
All replace are decline.

Conclusions:
I. Some drop are not replace.
II. All drop are replace.



Options :

1. % Only I follows

2. % Only II follows

3. % Either I or II follows
4. #* Neither I nor II follows

Question Number : 18 Question Id : 7773932924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fou 7T U Uy A, AT TN 9 SUF U9 &) FSH S hHi 1T 11 T SI¥R0I 6 ¢ | 3! foU T8 Sl & G AT 8, Ha g1 d
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Options :

1. ® HId | IR0 AT &

2. % Had I 3IERU BT §
3. QU137 11 STER0 BT §
4. % AT G I SHIERO Bl &

Question Number : 19 Question Id : 7773932925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In each question below, three statements are given followed by two conclusions numbered I and I1. You have to take the given statements to be

true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.



Statements:

Some people are buyers.

No buyer is market.

Some markets are not malls.

Conclusions:
I. Some malls are buyers.
II. Some buyers are not malls.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusions II follows

3. # Either conclusion I or II follows
4. ¥ Neither I nor II follows

Question Number : 19 Question Id : 7773932925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fou U U Uy H, AT U i SUE U9 & FSH S hHie 1T 11 ST SI¥R0I 6 ¢ | 3! foU T S &1 I AT 6, Ha g1 d
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Options :

1. ® Had [5HY [ 3IERU Bl §

2. % Had FHY 11 SR AT §
3. % gy fsems 1 37 11 3RV HRal §




4. TTHY [ SR 11 G R0 Tg] Hal o

Question Number : 20 Question Id : 7773932926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In each question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

Some alive are dead.
All dead are souls.
No soul is human.

Conclusions:
I. Some humans being alive is a possibility.
II. No dead is human.

Options :

1. ¥ Both conclusions I and II follow
2. % Only conclusion I follows

3. % Only conclusion II follows

4. % Either conclusion I or II follows

Question Number : 20 Question Id : 7773932926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fsem:
1. $ AMA & SHifad gH &1 HUTa g |
1. ®1s it ga, 7a 781 ]

Options :

1. ¢ TISh 1 3R 11 G SRR vl &
2. % HAd [SHY [ 3IERU Bl §
3. % had FApY I1 IR0 a1 §
4. % gra ey 197 11 SRR Rl §

General Ability2
Group Number : 2
Group Id : 77739351
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 777393124
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response :

Yes



Sub-Section Number : 1
Sub-Section Id : 777393147
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7773932927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, a statement is followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
You have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement. Mark answer:

Statement: Detergents should be used to clean cloths.

Assumption [: Detergent forms more lather.
Assumption II: Detergent helps to dislodge grease and dirt.

Options :

1. % Only assumption I is implicit

2. % Only assumption II is implicit

3. % Neither I nor II assumption is implicit

4. # Both I and II assumptions are implicit

Question Number : 21 Question Id : 7773932927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou T Uy W, Ub Y & TG 1 3R 11 P <) TURUNE <1 778 &1 IS TR I8 91d & o1 1 Y A Feram el & a1 i 811 s few
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Options :

1. % PId YR 3F: Figd g

2. ¢ I YR 11 3a: S &

3. % a1 R A8l 11 ayRon 3= Afgd g




4. % [ 3R 113! YR 3r<: Afed g

Question Number : 22 Question Id : 7773932928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, two statements are given. There may or may not be cause and effect relationship between the two statements. Mark
your answer using this statement.

Statement I: Many vegetarians are suffering from stomach ailments.

Statement II: Many dead fish were found near ' the lake shore.
Options :

1. # Statement I is the cause and statement II is the effect

2. % Statement II is the cause and statement I is the effect

3. # Both the statements are independent causes

4. ¥ Both the statements are independent effects

Question Number : 22 Question Id : 7773932928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iﬂﬁmﬁnwwﬁ,a‘ra?mﬁnw%lﬁmﬁ%aﬁawaﬁwmwﬁws‘rlﬁw%sﬁvﬁlﬁl 9P JUINT HIh AT IR DI

FY I: 5 AMHERI U & el ¥ fifed g
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Options :

1. % HYT [ HRU G 3R HYT 11 U4 &

2. % HYT[HRUIG IR BYTIUHE &

3. % GFI HYF 1 3R 11 W BRI 8

4. ¢ T HYT 1 3R 11 AT UHI §

Question Number : 23 Question Id : 7773932929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

9,21,7,93, 189
Options :

1. * 39

2.9 45

3. % 30

4. % 48

Question Number : 23 Question Id : 7773932929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7 fased! & I e GBI b1 I BY.

9,21,7,93,189
Options :

1. %® 39

2.9 45

3. % 30

4. % 48

Question Number : 24 Question Id : 7773932930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

43 :7::23:5::71:7?
Options :

1. % 6

2. % 4

3.% 7

4. 98



Question Number : 24 Question Id : 7773932930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U fdemeal & I Hdferd WA 1 98+ 1|
43 :7::23:5::71:7?

Options :

1. # 6

2. % 4

3. % 7

4.9 8

Question Number : 25 Question Id : 7773932931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

231:36 :: 125:7
Options :

1. % 95

2. % 250

3.9 134

4. % 75

Question Number : 25 Question Id : 7773932931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%1 U= 7, U Y fah el # O Hafed TA1 o1 o $1 |
231:36 :: 125:?

Options :

1. * 95



2. % 250
3.9 134
4. % 175

Question Number : 26 Question Id : 7773932932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P is coded as '+', Q is coded as '+', R is coded as 'x' and S is coded as '-', then, what is the code for 100S12P72R6Q5?
Options :

1. # 140

2. % 105

3.9 104

4. % 134

Question Number : 26 Question Id : 7773932932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe P 1 '+ IR W HIfSd BT ST ], Q B '+ dR W HIfSd fHAT ST 8, R B 'x' AR W HISd fHAT Arar g 3R S ol - dR W Hifgd
fPaT ST 8, @ 100S12P72R6Q5 T HIS FT 82

Options :

1. % 140

2. % 105

3. ¢ 104

4. % 134

Question Number : 27 Question Id : 7773932933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some equations are solved on the basis of a certain system. On the same basis find out the correct answer for the unsolved equation.

462 =551
398 =487
856 =7



Options :
1. ® 745
2. % 773
3. ¥ 945
4. % 743

Question Number : 27 Question Id : 7773932933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FS THIHR0T U M Jumell & STYR IR 5 fhT I1d § | I YR WSS THIBRU & ol Tet SR 1d Hiford |

462 =551
398 =487
856 =7

Options :
1. % 745
2. % 773
3. ¥ 945
4. % 743

Question Number : 28 Question Id : 7773932934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Question given below consists of three elements, you have to find out the diagram from options which shows similar relationship as that of
shown by elements given in the question.

Playing cards, Heart cards, Ace of spades.

Options :



1. #

2.¢

DO

Question Number : 28 Question Id : 7773932934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R T T U # dfiF da fRT U §, 3imue! fRu U el & 39 31l Y F1d BT 8, S U H U T d gRT S WU M adt & s
T ey B R gl

dT=1 o U, U &1 U1, §pH DT 3D
Options :




Question Number : 29 Question Id : 7773932935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Female, Teacher, Writer
Options :



3.¢

o8 B ¥ I®

Question Number : 29 Question Id : 7773932935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 712 AR & i TaY BT I S8R RIP I SR T 3IRT &1 U= S |
At e, aas

Options :

@

1. ®




3.¢¥

@p
&
o}

4. %

Question Number : 30 Question Id : 7773932936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, rectangle represents Footballers, circle represents Gymnasts, triangle represents Runners and square represents Boxers.
Which set of letters represents Footballers who are not Runners?

AN

»

Options :
1. ¥ PTI
2. % KT
3. % RTP
4. ¥ P]



Question Number : 30 Question Id : 7773932936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?%%@Wﬁ,wwﬁ,ﬁwmﬁ@?aﬁmﬁm% 3{eRT BT DI I YHE 39 Pealoar Hl aidl g
YTah -Tel &7

AN

7 ik R, Y
t 4]

Options :
1. # PTI
2. % KT
3. % RTP
4, ¥ PJ

Question Number : 31 Question Id : 7773932937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the figure carefully and answer the given question.

Two-wheelers Three-wheelers

5
(XN
X

Four-wheelers

People who have only two-wheelers is represented by



Options :
1.¥ ¢

2. % b,dand g
3. % band d
4. % f bandg

Question Number : 31 Question Id : 7773932937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R P TGS 37T Diford 3R T T 7% &1 IR o |

g A P —
Av&
R TR A
o1 cafaadl & U Fad qlufgar arg & ST ufafAfia gRIfear sman gl
Options :
1.¥ ¢

2. % b d3iR ¢
3. % b 3R d
4, % f,bG‘FRg

Question Number : 32 Question Id : 7773932938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, the circle represents Females, the square represents Students and the triangle represents Athletes. Study the figure
carefully and answer the given question.



Which of the following letters in the figure represents female student athletes?
Options :

1. % a

2.% Db

3.%d

4. ¥ f

Question Number : 32 Question Id : 7773932938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed s &, ga Afearsit &1 ufafAfia 18, T S B Ui Bl § SR Ay TUTe! Bl Ui Bl ¢ | 3RE Bl
YD 3eFT B 3R faT T Uy 1 IR I

Fofiied # O 319 91 31&R Afge o Tydic! &1 UiaFiid Hral g2
Options :
1. % a

2.%b



3.%d
4.9 f

Question Number : 33 Question Id : 7773932939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh exits from his house facing north. He walks 10 m straight, takes a left turn & walks 5m, then takes a right turn & walks 10m and finally
takes another right turn and walks 50m. Meanwhile Rakesh also leaves his house, walks 5m straight, takes a left turn & walks 20m, then takes a
another left turn and walks 50m to meet Ramesh facing each other.

What is the distance of Rakesh's house from Ramesh's house and in which direction?
Options :

1. % 100 m, east

2. % 95 m, east

3. ¥ 90m, east

4. # 95m, west

Question Number : 33 Question Id : 7773932939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T TR Y IR G- Pt 3R Fvarar g | a8 AT 10 Hiex Iadl 7, 918 3R g1 § 3R 5 Hiex Iadl 7, 39% 9Ic a8 G 3R Jdl §
3R 10 He? Il g 3R 3id H U IR g 3R a1 § 3R 50 Hiex Iadr g1 39 o1, Th e i 3 R FAvaar g 3R 5 Hiex der gaan
%,ﬁmar%ﬁeh?m%aﬁvzolﬂaqm , I T8 T 3R IR T 3R ST 8 3R Th-gR J ST - I T ¥ e & g
50 Hex IAA B

T &b R Y D BT ER forat g3t 3R forar fazm # g2
Options :

1. % 100 Hiex, qd

2. % osHler, qd

3. ¥ 90 HIex, Td

4. % 95 Hiex, Uiy

Question Number : 34 Question Id : 7773932940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the missing figure in the following series.

Question Figure:
Options :

1. ¢

*
*
*
*

Question Number : 34 Question Id : 7773932940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad e § qu UG &1 99+ S|



o Apid

* %K | 7 3k

Options :

1. ¢

*
*
*
*

Question Number : 35 Question Id : 7773932941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the odd figure out of the given series.
Options :



C|%%I%

i

&7
2

L

Question Number : 35 Question Id : 7773932941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ 7 Yae H Y IS P B |

Options :

*
X




)
3.¢

S

T ¥
4, %

Question Number : 36 Question Id : 7773932942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that will come next in the following figure series.

Question Figure:

| »f

Options :




3. ¢

&

Question Number : 36 Question Id : 7773932942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fddh et &1 9o SIfod S 49 ot SRaetl & S S|

T AT

| -4

Options :

1. ®




e

Question Number : 37 Question Id : 7773932943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.

Question Figure:

Options :

&
B

1. #®

2.¥



a
&

Question Number : 37 Question Id : 7773932943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad e & 1 v & forg Ig faded &1 oo &1 |

R HIDi

3. %

Options :

&
B

2. ¥



&
&

Question Number : 38 Question Id : 7773932944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the given figure?

d

Options :
1.¥9
2. % 8
3.% 10
4. % 11

Question Number : 38 Question Id : 7773932944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@S o H foran Byl IufRd &2



Options :
1.¥9
2. % 8
3. % 10
4. % 11

Question Number : 39 Question Id : 7773932945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out from amongst the four alternatives as to how the pattern would appear on the sheet when the sheet is folded at the dotted line and is
punched as given.

Question Figure:




4.9

Question Number : 39 Question Id : 7773932945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂ;ﬂqmﬁﬁmﬁﬁgwq?ﬁ@w%@TWWW$&WWWW%,ﬁ%QWW fadeat § § HF-91 U yelRfa

e AT
rl " "I‘I ==’ \." ﬁl ‘?
Options :

2. %




4.9

Question Number : 40 Question Id : 7773932946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, choose the correct mirror image of the figure, from amongst the four alternatives.

Question Figure:

“
N:

Options :

1. ¥

o
L)
K

3. ®




i«

Question Number : 40 Question Id : 7773932946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferad uy & fou v aRf faweal & 9 o & g} edur ufafds &1 <= & |

TR HIDic

M;

Ye

N

Options :

1.¢

=l || ] | A
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General Awarenessl
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Sub-Section Id : 777393148
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7773932947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Se” Cathedral was constructed under whose rule?
Options :



1. * British
2. * Dutch
3. #* French

4. ¥ Portugese

Question Number : 41 Question Id : 7773932947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fres A H ¥ AT (Se Cathedral) BT AT foar mam Ut
Options :

1. % 3

2. % 59

3. % T

4.« YRRt

Question Number : 42 Question Id : 7773932948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dances originated in Andhra Pradesh?
Options :

1. % Bharata Natyam

2. % Kathakali

3. ¥ Kuchipudi

4. % Kathak

Question Number : 42 Question Id : 7773932948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad # 9 & 91 T 31ie TSR H URY g3
Options :

1. # YdATRH



2. % HYDHAl
3. ¥ Piaget

4. % HYD

Question Number : 43 Question Id : 7773932949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gateway of India built as a triumphal arch to commemorate whose visit?
Options :

1. ¥ King George V

2. ® King George VI

3. # Lal Bahadur Shastri

4. % Mahatama Gandhi

Question Number : 43 Question Id : 7773932949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3T ST faraa! I &1 TG R & oL Ueh fa=iel R & U H S 77 82
Options :

1. ¢ BTSN v

2. % fHIT SISl VI

3. % TTc SEIgR YRel

4. % TETEAT et

Question Number : 44 Question Id : 7773932950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the other name of stringed instruments?
Options :

1. % Sushira Vadya

2. ¥ Tata Vadya



3. % Avanaddha Vadya
4. # Ghana Vadya

Question Number : 44 Question Id : 7773932950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R Tl T R AT T 82

Options :

1. % gRRaweg

2.% dqdld

3. ® 3{gd-g dl<

4, % Y dle

Question Number : 45 Question Id : 7773932951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the another name of Makar Sankranti in West Bengal?
Options :

1. ¥ Poush Sankranti

2. # Lesha Sankranti

3. % Omin Sankranti

4. ¥ Omish Sankranti

Question Number : 45 Question Id : 7773932951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST o AR Hehild BT [ A1 o S 11l 82
Options :

1. ¢ O Aepifd

2. % IR Gebifd

3. % ST Tepifd




4. % N Ipifa

Question Number : 46 Question Id : 7773932952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If investment is done by MNCs to buy assests such as land and building, what it is known as?
Options :

1. # Indian investment

2. ¥ Foreign investment

3. # Local investment

4. % Rare investment

Question Number : 46 Question Id : 7773932952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS Sl gRT uRgwfadl R T S YA SR HaH, 1 1 Had 87
Options :

1. % YR o=

2. ¢ fagzit aw

3. % QFER Fawr

4. % gy Fawr

Question Number : 47 Question Id : 7773932953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Indian government enacted COPRA?
Options :

1. % 1980

2. % 1983

3. % 1986

4, % 1989



Question Number : 47 Question Id : 7773932953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA TRHR 7 COPRA Hd Al fhaT?
Options :

1. #® 1980

2. % 1983

3. ¥ 1986

4. % 1989

Question Number : 48 Question Id : 7773932954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following details are not required to transfer funds through NEFT?
Options :

1. ¥ Consumer Id

2. % TFSC code of beneficiary

3. # Account number of beneficiary

4. % Name of bank of beneficiary

Question Number : 48 Question Id : 7773932954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & 9 &1 91 faarur THSU%E (NEFT) & HIEH 4 T YT B H A a1 o7
Options :

1. ¢ JUHIGT S ST (ID)

2. ® YTl Bl TEUHUTIRT (IFSC) B

3. % YTIehd] &l Wdl "6

4. % YTl & deb &l 11




Question Number : 49 Question Id : 7773932955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is an economic theory of total spending in the economy and its effects on output and inflation. Who has given the above theory?
Options :

1. ¥ Keynesian

2. # Robert Brown

3. % Rachel Carson

4. % Francis Crick

Question Number : 49 Question Id : 7773932955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fTaRT B $o1 Td &1 U M1 Rigia g foryes uuTa Sare $iR JeRwifd R gidT 8 | SWRiad Rigid e faar g2
Options :

1. ¢ HIHAREA

2. % T 3

3. % T HRIA

4. % iR fobap

Question Number : 50 Question Id : 7773932956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Budegt 2020-21, One-Product One-District is for which sector?
Options :

1. % Sanitation

2. % Horticulture

3. ® Trrigation

4. % Education

Question Number : 50 Question Id : 7773932956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

§ole 2020-21 H, T-Meae a-fSfeae fog a7 & feu g2
Options :

1. % ¥d=5dl

2. ¢ SETAHI

3. % =g

4. % TRref

Question Number : 51 Question Id : 7773932957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are commonly known as Brown Algae?
Options :

1. # Chlorophyceae

2. ¥ Phaeophyceae

3. % Rhodophyceae

4. ¥ Bryophytes

Question Number : 51 Question Id : 7773932957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § 3 f5d amrad: WY 2ard & =0 & ST S 82
Options :

1. % FARIBIEAT

2. ¢ BRIGIEH

3. % JSIHrEl

4. % FOGIEC

Question Number : 52 Question Id : 7773932958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements are correct regarding 'Biogas'?
Options :

1. ® Its manufacturing is done in the presence of oxygen

2. % It cannot be produced from sewage

3. ¢ Its starting material is mainly cow-dung

4. ® Tt is an excellent fuel and contains 75 per cent ethane.

Question Number : 52 Question Id : 7773932958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & Tay T Fafafad o 9 o9 91 $uF 981 82
Options :

1. % 3BT I o HI SuRAf A glaT g

2. % Y qIfgd A9 § T8 ST o b1 §

3. ¥ 3@ SRS Uard ge&a: MeR 8

4. % U8 TP IPY 58 8 3R 399 75 UfIwrd sA ST |

Question Number : 53 Question Id : 7773932959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Whose chemical name is Sodium bicarbonate?
Options :

1. ¥ Baking Soda

2. % Phenyl

3. # Castic soda

4. % Wax

Question Number : 53 Question Id : 7773932959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgepT TR AT QST SSdhree g2

Options :



1. ¢ BT Frel
2. % AR

3. % HIRCH AT
4. % T

Question Number : 54 Question Id : 7773932960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which gas is responsible for irritation in eyes while chopping an onion?
Options :

1. % Methane

2. # Nitrogen

3. ¥ Sulfur

4. % Helium

Question Number : 54 Question Id : 7773932960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl HTed AT 3Gl 7 Sfei & fog i I 19 fSieRr 82
Options :

1. % T
2. % A1EgIoH
3. ¥ g

4. % giferaH

Question Number : 55 Question Id : 7773932961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are not lifestyle diseases?
Options :

1. % Hypertension



2. ®* Cancer
3. % Common cold
4. % Stroke

Question Number : 55 Question Id : 7773932961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 o W@ Siam=id! Sl T8 82
Options :

1. # 3= YqddlU

2. % IR

3. ¢ WiYl-Sh

4. % D

Question Number : 56 Question Id : 7773932962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following name Brahmaputra river is known in Bangladesh?
Options :

1. % Rupnarayan

2. % Jamuna

3. # Ghugri

4. ¥ Mahananda

Question Number : 56 Question Id : 7773932962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR e} aare R | fFafaRad 8§ 3 fo = I ST S 82

Options :
1. ® UARMU
2. ¥ S{AT




3. % it
4. % HgHal

Question Number : 57 Question Id : 7773932963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the streams disappear in which of the following belt?
Options :

1. ¥ Bhabar

2. % Terai

3. * Duns

4. % Doab

Question Number : 57 Question Id : 7773932963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed 4 3 forg ugt R et afvan! faqw 8t St 82
Options :

1. ¥ HlsR

2. % TS

3. % g4

4. % GI3M

Question Number : 58 Question Id : 7773932964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following river rise from the spring near Mahabaleshwar?
Options :

1. # Narmada

2. % Mabhanadi

3. % Krishna



4. % Kaveri

Question Number : 58 Question Id : 7773932964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 7d) AeeasR & Ty Wid 3 Aedd g2
Options :

1. % e

2. % TRl

3. ¥ U

4. % BIARI

Question Number : 59 Question Id : 7773932965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nilgiri Biosphere reserve is spread across different locations. Which of the following are not part of it?
Options :

1. % Nagarhole

2. # Siruvani Hills

3. % Nalbari

4. % Silent Valley

Question Number : 59 Question Id : 7773932965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR ol sRfara &= faft uidr & thar gof g1 FafaRad § 3 oF w1 sq@! i 181 82
Options :

1. % VREId

2. % fyar ygifsar

3. ¢ Jddrel

4. % grgelc aoft



Question Number : 60 Question Id : 7773932966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kanishka was from which of the following dynasties?
Options :

1. ¥ Kushana

2. % Qupta

3. ®* Mauryan

4. #* Hun

Question Number : 60 Question Id : 7773932966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i MYfaRad & 9 fog Ioea=r I U

Options :
1. ¢ DY
2. % It d
3. % A
4. % g4
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Question Number : 61 Question Id : 7773932967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chandragupta I was succeeded by whom?
Options :

1. ¥ Samudragupta

2. * Chandragupta II

3. * Yashodharman

4. # Baladitya

Question Number : 61 Question Id : 7773932967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI TYH & FRIAGRY I U2
Options :

1. ¥ FHL

2. % T fgda



3. % gYyHT
4. % qrared

Question Number : 62 Question Id : 7773932968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who got defeated in the First Battle of Tarain ?
Options :

1. #* Qutub-ud-din Aibak

2. # Prithvi Raj Chauhan

3. % Muhammad Ghori

4. # [ltutmush

Question Number : 62 Question Id : 7773932968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS B Uga dels H fhas! IRre gs e
Options :

1. % PJa-3e-aH UaD

2. % QIR AR

3. ¢ HIgHE TR

4. % Zodial

Question Number : 63 Question Id : 7773932969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Simon Commission sent to India?
Options :

1. #1919

2. % 1922

3.9 1927



4. % 1932

Question Number : 63 Question Id : 7773932969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT HHIYA B HRd e Nl TT Y12
Options :
1. % 1919
2. % 1922
3.9 1927
4. % 1932

Question Number : 64 Question Id : 7773932970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of Corporate Monk?
Options :

1. # Dr. Jaishree Sharad

2. # Gaur Gopal Das

3. % Anju Sharma

4. # Sudha Murthy

Question Number : 64 Question Id : 7773932970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIURC Hidh P AGD DI g7

Options :

1. % Sl oudl ;Ra



Question Number : 65 Question Id : 7773932971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which agency in India is primarily responsible for meteorological observations, weather forecasting and seismology?
Options :

1. # World Meteorological Organization

2. ¥ Indian Meteorological Department

3. # Indian Weather forecast Organisation

4. # Indian Monsoon Forecast organisation

Question Number : 65 Question Id : 7773932971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B 1 Il Tol g =0 J Ay el fewforgy, drqm &t fawramoht $ik yew fagm &t SHeR) & forg SR 82
Options :

1. % foy Araw fogm dmea

2. ¢ YR HGH fa faumT

3. % YR HMGH gargH ST6H

4. ® YR AT YaTAM 18+

Question Number : 66 Question Id : 7773932972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the current Defence Minister of India?
Options :

1. #® Nirmala Sitharaman

2. ¥ Rajnath Singh

3. # Smriti Irani

4. ® Amrit Singh

Question Number : 66 Question Id : 7773932972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HRA & dHM &1 HAl DI 82
Options :

1. % fariar drare=

2.« oY R

3. % Wia A

4. % 3Md Rig

Question Number : 67 Question Id : 7773932973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country's Prime Minister won Noble Peace Prize for 2019?
Options :

1. ¥ Ethopia

2. % Namibia

3. ® Zaire

4. % South Africa

Question Number : 67 Question Id : 7773932973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohd =1 o YUTEAT A 2019 & T e ifd GRIBR Sidr?
Options :

1. ¢ it

2. ® TifHfeEr

3. % OR

4. % SfRqr 3rIplehT

Question Number : 68 Question Id : 7773932974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Union Ministry has paired up 20 best performing smart cities with least performing cities. What is the term for this pair?
Options :

1. # Twin cities

2. ¥ Sister cities

3. ¥ Assosiated cities

4. # Quad cities

Question Number : 68 Question Id : 7773932974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gﬁhwfrzoﬁ%wﬁmﬁaﬁmﬁ%ﬁﬁaﬁwmﬁmﬁmﬁmﬁ%wu@a%lw@@%ﬁww%mw
9

Options :

1. # foq Rt

2. ¢ R Ridka

3. % gwiftd Rida

4. % Bre R

Question Number : 69 Question Id : 7773932975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an e-auction platform to enable online auction of attached assets by banks?
Options :

1. # eKray

2. ¥ eBkray

3. % ¢Neelami

4, % eAuction

Question Number : 69 Question Id : 7773932975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeRad @ O ®I 91 dob! gRT Hed TRl &1 3iers et o fog s et d= g2
Options :

1. # eKray

2. ¥ eBkray

3. # eNeelami

4. % eAuction

Question Number : 70 Question Id : 7773932976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did Indian Railways first waste-to-energy plant has been commissioned?
Options :

1. ¥ Bhubaneswar

2. % Mumbai

3. % Gurgaon

4. ® Kharagpur

Question Number : 70 Question Id : 7773932976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR XAd = Ugdl SUIRIY--3u1 §47 Hgl AU fodr um
Options :

1. ¢ Ya13R

2. % a3

3. % TSIq

4. % TSR

Question Number : 71 Question Id : 7773932977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the India's world rank in importing arms during 2015-19?
Options :



1. # First
2. % Second
3. ® Third
4. *® Fourth

Question Number : 71 Question Id : 7773932977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2015-19 % TR SRR ST B H URd Bt {3y ¥ 182
Options :

1. ® ggdl

2. ¢ G’

3. % il

4. % Rt

Question Number : 72 Question Id : 7773932978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the theme of the 23rd National Youth Festival 2020?
Options :

1. # Youth for Digital India

2. # Sankalp Se Siddhi

3. % Fit Youth Fit India

4. # Indian Youth for Development, Skill and Harmony

Question Number : 72 Question Id : 7773932978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

23 3 P a1 HEId 2020 1 {5y o1 412

Options :

1. % gY B f&fored gfean



2. % Iy 9 RifG
3. ¢ fthe gy e Sfean
4. % ST gY BR Sdqude, Rpd U8 R

Question Number : 73 Question Id : 7773932979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many minimum levels of government are there in Federal system of government?
Options :

1. # 1

2.¥2

3.%5

4, % 4

Question Number : 73 Question Id : 7773932979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRHR G H TRBR & FATH b TR BId &2
Options :

1. %1

2.2

3.%5

4. % 4

Question Number : 74 Question Id : 7773932980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is responsible for the final assent of the amendment bill?
Options :

1. # Prime Minister

2. ¥ President

3. #* Finance minister



4. % Chief ministers of States

Question Number : 74 Question Id : 7773932980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN fade & AT & N B9 RFieR 82
Options :

1. % Gy HAl

2. ¢ gufd

3. % foarat

4. % o] & QeuHl

Question Number : 75 Question Id : 7773932981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states does not have Bicameral legislature?
Options :

1. % Andhra Pradesh

2. ¥ Punjab

3. ¥ Karnataka

4. % Bihar

Question Number : 75 Question Id : 7773932981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed & 9 ford uid & fg-waTraes faufe 78l &2
Options :

1. % 3R U

2. ¢ ST

3. % PlcdH

4. % f98R



Question Number : 76 Question Id : 7773932982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Right to Information Rules passed?
Options :

1. % 2001

2. % 2003

3. ¥ 2005

4. % 2007

Question Number : 76 Question Id : 7773932982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G BT PR a4 Ha TR fopar mar um
Options :

1. % 2001

2. % 2003

3. ¥ 2005

4. % 2007

Question Number : 77 Question Id : 7773932983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following countries is at the top of ICC Test rankings?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. India

2. Australia

3. England



4. South America

Question Number : 77 Question Id : 7773932983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICC % X B 2 R I T S 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. HIRd

2. 3freferan

3. 308

4. I&0T 3Rl

Question Number : 78 Question Id : 7773932984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 robots are the mascot of which edition of Asian Games?
Options :

1. % 16th

2. % 17th

3. % 18th

4. ¥ 19th

Question Number : 78 Question Id : 7773932984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 e TR Wl & 6y THur HT YU 52
Options :

1. % 16d



2. % 179
3. % 189
4.% 199

Question Number : 79 Question Id : 7773932985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Davis Cup is related to which sport?
Options :

1. # Badminton

2. ¥ Tennis

3. # Hockey

4. % Archery

Question Number : 79 Question Id : 7773932985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a9 % frd wa & wwefid 52
Options :

1. % gefifeq

2. ¢ ¢

3. % Gt

4. % dRarsit

Question Number : 80 Question Id : 7773932986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vikas Krishan is related to which sport?
Options :

1. ¥ Boxing

2. # Cricket



3. * Hockey
4. % Table Tennis

Question Number : 80 Question Id : 7773932986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeT ot forg T Iwaifda 82
Options :
1. ¥ bl
2. % fopobe
3. % Gl
4. % cgd e g
Arithmetic Abilityl
Group Number : 5
Group Id : 77739354
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Abilityl
Section Id : 777393127
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393150
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7773932987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From a bus stand, buses start for 4 different places after every 15, 20, 25 & 30 minutes starting from 9:00 a.m. At what time, for the first time
after 9:00 a.m. would all the buses start together again?

Options :

1. * 11:00 a.m.
2. % 11:30 a.m.
3. % 1:00 p.m.
4.4 2:00 p.m.

Question Number : 81 Question Id : 7773932987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T XS W, TP 15, 20, 25 3R 30 FOC & 91¢ 8§ 9:00 Fol I 4 STH-3TT R & 7T T & gieit & | fod 9, 9:00 1 & a6
Ugall IR 9l 99 U A1y fohr I = g

Options :

1. % Fag 11:00 S
2. % g 11:30 T
3. % QUG 1:00 &l
4. ¥ QUBR 2:00 T

Question Number : 82 Question Id : 7773932988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression by using BODMAS.

1/6 [6{-6+(6+6%6)6}]
Options :
1. % 256
2. ¥ 246
3. % 102
4. % 156

Question Number : 82 Question Id : 7773932988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad THIHRU & BODMAS &1 SUTNT HRPb TIRd Difold |

1/6 [6{-6+(6+6x6)6}]
Options :
1. % 256
2.9 246
3. % 102
4. % 156

Question Number : 83 Question Id : 7773932989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

1859/?7 =7/275
Options :
1. ¥ 715
2. % 725
3. % 745
4, % 775



Question Number : 83 Question Id : 7773932989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad us # usaras g (2) & R IR &7 311 A1

1859/? =7/275
Options :
1. ¥ 715
2. % 725
3. % 745
4. % 775

Question Number : 84 Question Id : 7773932990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest 3-digit number exactly divisible by 47 is:
Options :

1. ® 972

2. % 945

3. % 957

4.+ 987

Question Number : 84 Question Id : 7773932990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-3h! B TaY TS! U-HT Sl 47 ¥ guia: fquriord gi:
Options :

1. % 972

2. % 945

3. % 957

4. ¥ 987



Question Number : 85 Question Id : 7773932991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mn
(1024)5x4%n+1
16M x4 —1

=

Options :
1. # 256
2. % 64
3. 16
4, %9

Question Number : 85 Question Id : 7773932991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mn
(1024) 5 xa<n71
16™ x4 1

=9

Options :
1. % 256
2. % 64
3.¥ 16
4. %9

Question Number : 86 Question Id : 7773932992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 24 student, average weight is 47 kg. 4 new student join the class an average weight of class become 51 kg. Find the average weight
of 4 new student.

Options :
1. # 65kg.



2. ¥ 75kg.
3. % 95kg,
4. % 85kg.

Question Number : 86 Question Id : 7773932992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Hefl & 24 faenflal &1 oiraa ao 47 e B 1 4 ¢ faenff wem & nfie 814 § iR Fa &1 3 ad aoH 51 [ g1 St g1 4 78
fyenffay &1 siyd g I S|

Options :

1. % 65 foba.

2. 75 f.

3. % 95 fUT.

4. % g5 T,

Question Number : 87 Question Id : 7773932993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of fourteen numbers is 46. The average of first five is 43 and that of last six numbers is 49.5. The sixth and seventh numbers are
respectively 4 and 8 greater than the eighth number. What is the average of sixth and seventh numbers?

Options :
1. ¥ 46
2. % 48
3. % 43
4. % 40

Question Number : 87 Question Id : 7773932993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lag JBATSH BT 3 46 & | UHH UTd TS BT 3 43 § 3R 3ifaH o8 T3l &1 3d 49.5 81 Dot 3R Fldad W1, 34! T
T HHT: 4 3R 8 3P g1 B! 3R JTad! TBAT BT 3T FIT 82

Options :



1. ¥ 46
2. % 48
3. % 43
4. % 40

Question Number : 88 Question Id : 7773932994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group consists of 11 men. If two men whose ages are 29 years and 31 years are replaced by two other men named Amar and Bhavan, the
average age of the group drops by one year. Find the average age of Amar and Bhavan (in years).

Options :
1. % 225
2. % 235
3.¥245
4. % 255

Question Number : 88 Question Id : 7773932994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% g T 11 Go | AT 1 3 oot 317 29 98 3R 31 T8 §, BT TG 3R 3R UG A & &l 3= JIN! gRT 9&dl o dl, g B!
3T 3T TP aY HH I Ol &1 3FR 3R YT &1 3d 31 (@O H) J1d Piforg|

Options :

1. %225

2. %235

3.9 245

4. % 255

Question Number : 89 Question Id : 7773932995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cost price of a table is Rs. 330. It is sold at a profit of Rs. 30 after giving a 10 percent discount. Find its marked price.
Options :



1. # Rs. 450
2. % Rs. 300
3. ¥ Rs. 400
4. * Rs. 500

Question Number : 89 Question Id : 7773932995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A &1 AT i 330 39 ¢ 1 S 10 U1 &1 BT o & 916 30 YA & A1 TR 991 ST & | ST Sifohd T J1d Hiford |
Options :

1. % 450390

2. % 300 ¥UY

3. ¢ 400 T4

4. % 500 30

Question Number : 90 Question Id : 7773932996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader listed up the price of a product by 75 percent. If the discount is decreased from 50 percent to 25 percent then his profit raised by Rs. 210.
What is the cost price of the product?

Options :

1. # Rs. 210
2. % Rs. 280
3. # Rs. 320
4. ¥ Rs. 480

Question Number : 90 Question Id : 7773932996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AMURT A T a¥d B B 75 Uia=d $ifie siferd foram) afe e so ufawra I geres 25 Uia=id & &l Sifd! § af SH! arH 210 39
§¢ ST 8| 3% $1 % Yed T 32

Options :




Question Number : 91 Question Id : 7773932997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Due to a price hike of 20 percent, 4 kg less rice are available for Rs. 120. What is the initial price per kg of rice?
Options :

1. ¥ Rs. 5/kg

2. % Rs. 4/kg

3. # Rs. 6/kg

4. % Rs. 5.5/kg

Question Number : 91 Question Id : 7773932997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIAI H 20 U= Pt IgIas! & HRUL, 120 TUT H 4 fHal HH T1ad fHad g1 ufd fa Irad &t URNS Hivd w1 82
Options :

1. ¢ 5303/ foralt

2. % 4303/ fovelt

3. % 63Ug) fovadl

4. % 5530/ fooen

Question Number : 92 Question Id : 7773932998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three glasses of capacity 4 L, 7 L and 10 L are completely filled with mixture of milk and water. Milk concentrations in the mixtures are 80

percent, 70 percent and 60 percent respectively. The mixture of three glasses are emptied in a large vessel. Find the ratio of milk to water in the
vessel.

Options :



1. ¥ 47/23
2. % 23/47
3. # 49/23
4. % 23/49

Question Number : 92 Question Id : 7773932998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI fiverr fSrTepT &fFell 4 efieR, 7 eftex 3R 10 ofler B UEi oRe 9 g 3TR Ul o fsor § R U 8| FAsor 7 g &) Wigeell $hH: 80 Ui,
70 TFA=Td 3R 60 TR 8| Th &S S | ol RICT] ob THS07 Bl /et dH=oh el SIrdl & | §a- # g8 SR U 3uTd 31d Siford |
Options :

1. ¢ 47/23

2. % 23/47

3. % 49/23

4. % 23/49

Question Number : 93 Question Id : 7773932999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of an item P is twice the price of an item Q. If the price of P is decreased by 25 percent and the price of Q is increased by 50 percent,
then find the percentage increase in the sum of the prices of the two items.

Options :

1. * 10 percent
2. % 5 percent
3. % 0 percent
4. % 20 percent

Question Number : 93 Question Id : 7773932999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I P B HIA G a¥g Q BT ST I SR g | AfE P B HIAd H 25 U= B HH gl § 3R Q B HiAd H 50 Ufa=rd &1 gf gt
g, 1 G aXg3ll B HIadl &b I | UII=Id gl J1d Hiforg|




Options :

1. % 10 gfawrd
2. % 5 gfa=rd
3. ¢ 0 gfa=ra
4. % 20 gfaerd

Question Number : 94 Question Id : 7773933000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A grocer buys two kinds of wheat at Rs. 15.00 and Rs. 9.50 per kg respectively. In what ratio should he mix it so that by selling the mixture at Rs.
16.00 a kg, 25 percent may be gained?

Options :
l.%2:1
2.%2:3
3.03:2
4. % 3:5

Question Number : 94 Question Id : 7773933000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T -1 SATaRY &) UhR & g HHE: 15.00 3T 3R 9.50 TU UFd fhall 1 o= T Tt 31 39 3= by Srgura & e =ifed aifes
0T B 16.00 ¥ Ul fbdl BT G J d°1 W 25 UTA=Id BT ATH 12

Options :
1.%2:1
2.%2:3
3.°3:2
4. % 3:5

Question Number : 95 Question Id : 7773933001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rohit bought a cassette for Rs. 40. He sold it for 20 percent profit to Rakesh. Rakesh sold it at 33.33 percent profit to Suresh. Find Suresh’s cost



price (in Rs).
Options :

1. % 32

2. ¥ 64

3. % 54

4. % 70

Question Number : 95 Question Id : 7773933001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAfed = 40 3T T TH Hc WRIGT | I F B DI 20 TR ATH TR 99 {71 AB A 9 33.33 WiA<d A1 IR G B 94 a1 IR
DT AT G (3T T) AT BT |

Options :

1. % 32

2.9 64

3. % 54

4. % 70

Question Number : 96 Question Id : 7773933002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man purchased 120 kg of sugar and was forced to sell it at a loss equal to the selling price of 30 kg of sugar. If he purchased each kilogram of
sugar for Rs. 15, then at what price did he sell each kilogram of sugar?

Options :

1. ¥ Rs. 12
2. % Rs. 15
3. % Rs. 20
4. # Rs. 50

Question Number : 96 Question Id : 7773933002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH SMTEHT A 120 Tl T WRIET 3R I 30 franm it & foe! e & sR1aR 81 WR o9+ & o Ao foean | afe 3e- ufd
foeam =i 15 30 | TRial, dl 394 YA frarmd it ford ged wR o

Options :

1.¢ 12300
2. % 15307
3. % 2030
4. % 50309

Question Number : 97 Question Id : 7773933003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person sold two refrigerators each for Rs. 5060. On one he gained 10 percent and on the other he lost 8 percent. Find his overall profit/loss.
Options :

1. % Rs. 20 loss

2. ¥ Rs. 20 profit

3. # Rs. 10 loss

4. # Rs. 10 profit

Question Number : 97 Question Id : 7773933003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G 2 &l XTHoReR & I TS B 5060 $UT F 94T | Th TR 39 10 IR BT AT SR GIR TR I3 8 YA BT THAMH g3HT| ST
&d Y/ BT AT Difor|

Options :

1. % 20 300 P g1
2. ¥ 20 30 HT A1H
3. % 10300 DI gl
4. % 10 308 BT AH

Question Number : 98 Question Id : 7773933004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

At present, the ratio of the ages of Maya and Chhaya is 6 : 5 and fifteen years from now, the ratio will get changed to 9 : 8. Maya’s present age is:
Options :

1. % 21 years

2. % 24 years

3. ¥ 30 years

4. % 40 years

Question Number : 98 Question Id : 7773933004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qIrET B AT 3R ST B 3T BT U 6 ¢ 5 8 3R 15 T8 a1g g 301d 9 : 8 & uRRafid g1 S| 71 &t g9 Mg 6 -
Options :

1. % 219y
2. % 24 TY
3.4 3099
4. % 409

Question Number : 99 Question Id : 7773933005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B entered into a partnership, investing Rs. 16,000 and Rs. 12,000 respectively. After 3 months, A, withdrew Rs. 5000, while ‘B’ invested
Rs. 5000 more. After 3 months more, C joins the business with a capital of Rs. 21,000. After a year, they obtained a profit of Rs. 26,400. By what
amount does the share of B exceed the share of C?

Options :

1. ¥ Rs. 3600
2. % Rs. 3800
3. % Rs. 4600
4. % Rs. 4800

Question Number : 99 Question Id : 7773933005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A 3R B HHT: 16,000 T TF 12,000 ST 43 R MUY H AR Hd g1 3 HelH 915 A, 5000 ST FHTd AT § Said B” 5000 ST
3R FOw HRAT 8 | 3ATA <19 HE 1A &1€ € ,21000 U & ATy FGAG & A BId1 81 U a¥ & 16 o 26400 $UYY TATHT YT HRdl ¢ | B HI
e, ¢ & e 9 foha sifdie 82

Options :

1. ¥ 3600 3T
2. % 3800 3UY
3. % 4600 ¥UY
4. % 4800 3T

Question Number : 100 Question Id : 7773933006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the present age of Manoj to that of Wasim is 3 : 11 respectively. Wasim is 12 year younger than Rehan. Rehan’s age after 7 year will
be 85 year. What is the present age of Manoj’s father, who is 25 year older than Manoj?

Options :

1. % 61 years
2. % 67 years
3. % 45 years
4. ¥ 43 years

Question Number : 100 Question Id : 7773933006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3R G &Y aaHT 3T HT SUTd HHT: 3:11 81 THA, WWH Y 12 a8 BT 3| 7 98 a1 Y8 HI 31 85 I &) Sweft | 7=t & forar
B I R TR, AT Y25 W TS & 2

Options :

1. % 61 a4
2. % 6794
3. % 4599

4.4 439Y



Arithmetic Ability2

Group Number : 6

Group Id : 77739355
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 777393128
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393151
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7773933007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The students in three classes are in the ratio of 4 : 6 : 9. If 12 students are increased in each class, the ratio changes to 7 : 9 : 12, then the total
number of students in the three classes before the increment is:

Options :
1. * 95



2.9 76
3. % 100
4. % 114

Question Number : 101 Question Id : 7773933007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I wermant § faenfial &t T 4 ¢ 6: 9 & U | g | Ife D Ham | 12 faamdf ag1 fod s Y srurd sea®= 7: 9 : 12 81 SRAm,
SaT  Ud d deal & R @) et de o

Options :

1. * 95

2.9 76

3. % 100

4. % 114

Question Number : 102 Question Id : 7773933008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person gets Rs. 200 more interest by investing Rs. 20000 at R percent p.a. compound interest instead of R percent p.a. simple interest for two
years. Find the value of R.

Options :
1. % 12
2. %20
3. % 15
4. 10

Question Number : 102 Question Id : 7773933008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Hfad DI &l a9 91G 20000 FYY DI A BT R UTA=Td Ui a9 TYROT ST D1 S8 R Wia=Td Uid a8 aehgia samel R A% & WR 200
¥UY 31fere ferd g1 R ST A I1d Biforg|

Options :



1. * 12
2. %20
3. % 15
4.4 10

Question Number : 103 Question Id : 7773933009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between simple and compound interests on Rs. 10000 at 15 percent p.a. for two years?
Options :

1. % Rs. 250

2. % Rs. 200

3. % Rs. 225

4, ® Rs. 275

Question Number : 103 Question Id : 7773933009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 ¥ DT A TR 15 IR Ul IS Bt &R F AURUT SR Tehgfe TS BTl aY BT 3R T 82
Options :

1. % 250 300

2. % 200 3T

3. ¥ 225300

4. % 27530

Question Number : 104 Question Id : 7773933010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest, interest being compounded annually, on a certain sum for the second and the third years are Rs. 2880 and Rs. 3398.40
respectively. Find the rate of interest.

Options :
1. % 16 percent p.a.



2. % 14 percent p.a.
3. % 20 percent p.a.
4. ¥ 18 percent p.a.

Question Number : 104 Question Id : 7773933010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (a1 R ahgis T, Iie Ihgia TS &1 &R 9, TR SR AR a9 BRI 2880 $UY 37K 3398.40 U & | &S HI &2 J1d
P

Options :

1. % 16 Ufaera ufd oy
2. % 14 yfa=ra ufa a9
3. % 20 Ufaera ufd a9
4. ¢ 18 fawa ufd ay

Question Number : 105 Question Id : 7773933011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On a certain sum, rate of interest per annum for the first two years is 4 percent. The rate of interest for next four years is 6 percent and for the
next three years is 8 percent. If total simple interest earned at the end of 9 years is Rs. 1120, then the sum is:

Options :

1. # Rs. 1600
2. % Rs. 1800
3. % Rs. 2000
4. % Rs. 2240

Question Number : 105 Question Id : 7773933011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT qarem &R, Ug < < au & forg Ufer aef saTof o= 4 Ufr=ra 1 ST TR IS o foll SISl &R 6 Ui § 3R SATa i anf & fou 8
Tfa=Td g |t 9 Tul o Sfd & 3ifofd Hot TR0 &1 1120 ¥ &, O AU &

Options :



1. % 1600 30
2. % 1800 %30T
3. ¢ 2000 $YY
4. % 2240 309Y

Question Number : 106 Question Id : 7773933012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio between the rates of travelling of A and B is 2 : 3 and therefore A takes 10 minutes more than the time taken by B to reach a
destination. If A had walked at double the speed, the time taken by him to reach the destination would have been:

Options :
1. % 10
2.¥ 15
3. % 20
4. % 30

Question Number : 106 Question Id : 7773933012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B & S & 1 B DI &2 BT 3IUM 2 : 3 § 3R AT A P T Tided ddb Uga- o 1018 B & 9T ¥ 10 e S1eT 99 TTa g |
i A QAT T A FAdT 4l Tided dob Ugd & ot 39 gRT form a1 993 gl

Options :

1. % 10

2.¥ 15

3. % 20

4. % 30

Question Number : 107 Question Id : 7773933013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man started 20 minutes late and travelling at a speed of 3/2 times of his usual speed and reaches his office at time. The time taken by the man
to reach his office at his usual speed is:



Options :

1. # 40 minutes
2. #* 50 minutes
3. % 60 minutes

4. * 54 minutes

Question Number : 107 Question Id : 7773933013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3MTeHT 20 e B &R 71 ST UR™ o SiR IUH! AHRI 71 3 3/2 T 71 T AT Sl §U S0 ST 99 TR Ugadi ¢ |
S{TEH! GRT U= A T F 307 HRAad ddb Uga- o o fordr 994 &

Options :

1. % 40 fiFe
2. % 50 e
3. ¢ 60 fiC
4. % 54f0Ac

Question Number : 108 Question Id : 7773933014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Points A and B are 70 km apart on a high way and two cars start at the same time. If they travel in the same direction they will meet after 7 hours,
but if they travel towards each other they will meet after 1 hours. Find the speed of the faster car.

Options :
1. % 35
2.9 40
3. % 425
4. % 45

Question Number : 108 Question Id : 7773933014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS gTsd R 31 fiig A 3R B & S &1 g2t 70 fpeit § 3R Y BR Ueh € THT WR a1 TR 1 € | 1S 3 U & fa=m o =rar uRe



Fgdld7ac A HAd €, AfpT S99 U IR I IR A IRl g dl d 1 b9 W At € | i (@1 ) SR &1 71fd J1d Difod |
Options :

1. % 35

2. ¢ 40

3.% 425

4. % 45

Question Number : 109 Question Id : 7773933015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of efficiency of Ajay and Sneha is 6: 5. The ratio of number of days taken by Prabha to Sneha is 3 : 2. Ajay take 3 days less then Sneha,
when Ajay and Sneha complete the work individually. Prabha and Sneha started the work and left after 3 days then the number of days taken by
Ajay to finish the remaining work is:

Options :
| % 12 days

- 92 days

5
s 10 = days

2
L 11 - days

Question Number : 109 Question Id : 7773933015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3R WET B G&fdl BT U 6: 5 5| THT SR WgT §RT g U &1 Bt T T SFUT 3: 2 § | 919 31T 3R TG SHTHT AT HTH &
T R & dl 3o, W8T 9 3 - S8 T &0 T &l § | THT 3R HET A HTH L= 61 3R 3 faT 918 o1 IS fea Ot A9 &1 & 1 v
o fo1q 3fe1d g1 forg 7Y el 1 g

Options :




w1278
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2
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Question Number : 110 Question Id : 7773933016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B can fill a tank in 15 minutes and 40 minutes respectively. Both the pipes are opened together but after 4 minutes, pipe A is
turned off. What is the total time required to fill the tank?

Options :

1. # 10 minute 10 second
2. % 25 minute 20 second
3. % 29 minute 20 second

4. % 20 minute 10 second

Question Number : 110 Question Id : 7773933016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 UISY A 3R B HH: 15 fiHe 3R 40 e # U & &) WR Ibd &1 Sl UTST U 1Y T iTd & Afh 4 fiFe & 91, UTsT A §¢ &R
G I ] 1 SF DI 1RA & W Fd foba-1 I07g a1 =nfgw?

Options :

1. % 10fe 10 9Fs

2. % 25 fiFC 20 ¥Fh S

3. ¢ 29 fiFc 20 TS




4. % 20 fiFe 10 9 g

Question Number : 111 Question Id : 7773933017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 men can complete a work in 10 days and the same work could be finished by 15 women in 20 days. 10 men and 10 women decide the work
together. If the wage rate for a man and a woman are Rs. 50 and Rs. 45 per day respectively, then what will be the total wage bill for the work?

Options :

1. % Rs. 13500
2. % Rs. 11400
3. # Rs. 12800
4. % Rs. 14000

Question Number : 111 Question Id : 7773933017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 Y 10 & H U T T R Fobl § 3R 981 7 15 Afaait gr1 20 el 1 fbar s Gepar 81 10 729 3R 10 A fordies &
%?T;ﬂatraﬂ?r%l IS TH oW 3R T Higdl & o AoTgRt ax HHRE: 50 ¥ 3R 45 ¥ UdfeA g, d S & fore S 9 fad faramn
?

Options :

1. % 13500 30
2. ¥ 11400 39T
3. % 12800 30T
4. % 14000 304

Question Number : 112 Question Id : 7773933018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A steel rod of 8 cm diameter and 42 cm length is used in making of solid cubical dices. If the face area of each dice is 64 sq. mm, then how many
dices can be made from this rod?

Options :
1. % 8450



2. ¥ 4125
3. # 2050
4. = 3275

Question Number : 112 Question Id : 7773933018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 YTicr A 3R 42 YR Tars aell Wid B! S BT IUIN 3 T-IHR U g9 | a1 SIrar 7 | afe e Ul &1 3 &% d 64
i it 8, O 59 oS O fham U §91¢ o Iahd 82

Options :

1. % 8450

2. 4125

3. % 2050

4. % 3275

Question Number : 113 Question Id : 7773933019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of a circle is 3/5th of that of a radius of sphere. The volume of the sphere is 4000m/3 cube m. If ratio between area of a square and that
of the circle is 14:11, then what is the perimeter of the square ( @ = 22/7)

Options :
I. * 64 m
2. % 52m
3.9 48 m
4. % 32m

Question Number : 113 Question Id : 7773933019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I D1 BT, T T Bt 1 &1 3/5 5 | T BT ST 400073 T H 81 Tfe fopelt a7 3R 39 90 & ol & &0l &b SII0Td 14:11
g, Al BT URAT R 2 (= 22/7)

Options :




1. % 6411
2. % 527
3. ¢ 48 WY
4. % 300

Question Number : 114 Question Id : 7773933020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of a circle is twice the side of a square of area 196 sq.cm. Length of a rectangle is twice the diameter of the circle. What is the
perimeter of the rectangle if its breadth is half the length of the rectangle?

Options :

1. ¥ 244 cm
2. % 168 cm
3.4 336 cm

4. % Cannot be determined

Question Number : 114 Question Id : 7773933020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B AT U 196 aF HIex A aTd a7 &1 Yol ¥ GRIH 6 | U 3MTd &) avals gu o T ¥ aR[H! ¢ | A Smad &1 dreTs 39!
TS ¥ 3l g, A STad o1 uRHTg o BN

Options :

1. % 244 ¥

2. % 168 M

3. ¢ 336 TH!

4, % J1d 8! fd1 ST el

Question Number : 115 Question Id : 7773933021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of a square is 196 sq. cm, whose side is half the radius of a circle. The circumference of the circle is equal to breadth of a rectangle. If
perimeter of the rectangle is 712 cm, then what is the length of the rectangle?



Options :

1. # 196 cm
2. % 186 cm
3.4 180 cm
4. % 190 cm

Question Number : 115 Question Id : 7773933021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T &1 §AHA 196 T Hiex &, ST Yo U gt 1 A1 o1 on1elt 51 gt & uiRelt 3md &t AreTs o aRIeR g | afe 31d ST URA™
712 I B Y AT 1 TS T 7Y

Options :

1. % 196 At
2. % 186 THI
3. ¢ 180 TH!
4. % 190 H

Question Number : 116 Question Id : 7773933022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This question is based on the pie chart given below.



Constituents of Sunrays received in 1 minute

Microwaves, 5%

Radiowaves,
15%

Alpha Rays, 10%

Gamma Rays,
5%
Beta Rays, 5%

IR Rays, 10%
Total sunrays received in 1 minute = 3600 units

The amount of Beta rays in, 10 minutes of sunrays is (approximately) how many times the amount of IR rays in 3 minutes of sunrays?
Options :

1. % 0.6

2. % 0.67

3. % 143

4. v 1.67

Question Number : 116 Question Id : 7773933022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy - e T urg =1 R enutRa g
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Options :
1. % 0.6
2. % 0.67
3.% 143
4.9 1.67

Question Number : 117 Question Id : 7773933023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This question is based on the pie chart given below.



Constituents of Sunrays received in 1 minute

Microwaves, 5%

Radiowaves,
15%

Alpha Rays, 10%

Gamma Rays,
5%
Beta Rays, 5%

IR Rays, 10%
Total sunrays received in 1 minute = 3600 units

The amount of Alpha rays received in 2 minutes is how much more/less than the amount of radio waves received in 4 minutes?
Options :

1. ¥ 1440

2. %1020

3. % 2000

4. % 2120

Question Number : 117 Question Id : 7773933023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy - e T urg =1 R enutRa g



1 fere & g g/ i fepon &1 g

3em fmot,
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HE T
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Options :
1. ¥ 1440
2. % 1020
3. % 2000
4. % 2120

Question Number : 118 Question Id : 7773933024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given table shows the number of books published in different months and the percentage of number of books sold, out of number of books
published in the respective months by a publisher.

Note: Number of books published (in a month) = Number of books sold + number of unsold books



Month Number of Percentage of books sold
books out of the number of books
published published in that month
January 480 235 percent
February 360 20 percent
March 240 15 percent
April 320 25 percent
May 420 15 percent
Find the difference between the number of books unsold in February and the number of book sold in April.
Options :
1. ® 198
2. % 232
3. % 188
4. 208

Question Number : 118 Question Id : 7773933024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 Tt anferent fafta wE! & USIRId QX! &1 TReT 3R U TR gRT A& fid AeiH! & UhIRId Jxdd! &t TRed § fae- arell G|
&1 HBAT & UfRId Bl SR 5|

Ae: UHTIRId Y| &1 T (Th Hg - H) = [T §3 T o1 U + -To! fodh- arelt Y] o1 S




g, 3 | ?EET . & @ fored
& :
- mﬁmg‘é qreil gEa® | &1 Ufa=rd
Sl 480 25 ufaerd
B 360 20 gfaera
AT 240 15 gfaera
e 320 25 gfaera
IS 420 15 ufaera
THRas! | Tl fadh arelt Tead| ot IRedT 3R Sia H fadh- aTel Jde! & Wel & st &l Siak J1d HIfoTg |
Options :
1. ¥ 198
2. % 232
3. % 188
4. 9% 208

Question Number : 119 Question Id : 7773933025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given table shows the number of books published in different months and the percentage of number of books sold, out of number of books
published in the respective months by a publisher.

Note: Number of books published (in a month) = Number of books sold + number of unsold books



Month Number of Percentage of books sold
books out of the number of books

published published in that month
January 480 235 percent
February 360 20 percent
March 240 15 percent
April 320 25 percent
May 420 15 percent

Out of the number of books sold in January, 30 percent are academic books. The number of academic books sold in January is what percentage of
the number of books sold in February?

Options :

1. % 33.33 percent
2. % 25 percent

3. # 75 percent

4. ¥ 50 percent

Question Number : 119 Question Id : 7773933025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&t et rferen fafta Tl H U TRId Tad! &1 ST SR Ue UhIRIe gRT Gaied HeiHi § UhTRId YRad! &1 St 9 faa arell gl
&1 BT & UC=Id D! G 5|

Te: USRI Q! &1 T (Th HeH H) = [T §3 Tdh] o1 U + -Tg! foh arelt Yo o1 S
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Options :

1. % 3333 Gfcd=rd

2. % 25 YfaRrd

3. % 75 gid=rd

4.« 50 Ufa=Id

Question Number : 120 Question Id : 7773933026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given graph shows the total number of people (men and women), and the number of women visiting different Meditation centers (A, B, C
and D) in a town.
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Find the difference between the average number of men visiting Meditation centre A and B taken together, and the average number of men
visiting Meditation centre C and D taken together.

Options :
1. % 46
2. % 52
3. % 48
4. ¥ 56

Question Number : 120 Question Id : 7773933026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 46
2. % 52
3. % 48
4. ¥ 56
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Question Number : 121 Question Id : 7773933027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Just because he does not take an interest in life, it doesn't mean life won't take interest in him.
Options :

1. # Just because he does not take

2. % an interest in life, it doesn't mean

3. ¥ life won't take interest in him.

4. * No Error

Question Number : 121 Question Id : 7773933027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.



Just because he does not take an interest in life, it doesn't mean life won't take interest in him.
Options :

1. #® Just because he does not take

2. % an interest in life, it doesn't mean

3. ¥ life won't take interest in him.

4. ® No Error

Question Number : 122 Question Id : 7773933028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

They would be helped enormously if other agencies of knowledge, particularly the schooling system, contribute to the task.
Options :

1. # They would be helped enormously

2. # if other agencies of knowledge, particularly

3. ¥ the schooling system, contribute to the task.

4. # No Error

Question Number : 122 Question Id : 7773933028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

They would be helped enormously if other agencies of knowledge, particularly the schooling system, contribute to the task.
Options :

1. # They would be helped enormously

2. ® if other agencies of knowledge, particularly

3. ¥ the schooling system, contribute to the task.

4. % No Error



Question Number : 123 Question Id : 7773933029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

A programme like the Pradhan Mantri Jan Dhan Yojana (PMJDY) is operationally guided by the ministry and bypass the board-directed strategy.
Options :

1. % A programme like the Pradhan Mantri Jan Dhan Yojana (PMJDY) is

2. % operationally guided by the ministry

3. ¥ and bypass the board-directed strategy.

4. % No Error

Question Number : 123 Question Id : 7773933029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

A programme like the Pradhan Mantri Jan Dhan Yojana (PMJDY) is operationally guided by the ministry and bypass the board-directed strategy.
Options :

1. % A programme like the Pradhan Mantri Jan Dhan Yojana (PMJDY) is

2. ® operationally guided by the ministry

3. % and bypass the board-directed strategy.

4. % No Error

Question Number : 124 Question Id : 7773933030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # Individual rights are citizens’ most important guarantees of personal freedom.



2. ¥ Individual rights have protected citizens with unwarranted government intrusion.
3. ¥ So many citizens use individual rights as an excuse to take advantage of one another.

4. % Individual rights represent citizens’ only defense against government interference.

Question Number : 124 Question Id : 7773933030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # Individual rights are citizens’ most important guarantees of personal freedom.

2. ¥ Individual rights have protected citizens with unwarranted government intrusion.

3. ¥ So many citizens use individual rights as an excuse to take advantage of one another.

4. % Individual rights represent citizens’ only defense against government interference.

Question Number : 125 Question Id : 7773933031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. ¥ The theory of complicated systems must be defined the entities of which the system is composed.

2. # An acceptable theory cannot have consequences that contradict its basic purpose.

3. # An adequate method of study of complex systems should reveal the actual complexity of the system it studies.
4. % An acceptable theory should describe the laws and initial conditions of a complex system.

Question Number : 125 Question Id : 7773933031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :



1. ¥ The theory of complicated systems must be defined the entities of which the system is composed.
2. # An acceptable theory cannot have consequences that contradict its basic purpose.
3. # An adequate method of study of complex systems should reveal the actual complexity of the system it studies.

4. % An acceptable theory should describe the laws and initial conditions of a complex system.

Question Number : 126 Question Id : 7773933032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

His secret plans for a new and unconventional way of life has just emerged.
Options :

1. ¥ have just emerged.

2. % only has just emerged.

3. # has only emerged.

4. ® No improvement

Question Number : 126 Question Id : 7773933032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

His secret plans for a new and unconventional way of life has just emerged.
Options :

1. ¥ have just emerged.
2. % only has just emerged.
3. % has only emerged.

4. ¥ No improvement

Question Number : 127 Question Id : 7773933033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Our families knew about it in advance and somehow managing to keep it a secret from me.
Options :

1. #* manage to keep

2. ¥ managed to keep it a

3. % managed to keeping a

4. ¥ No improvement

Question Number : 127 Question Id : 7773933033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Our families knew about it in advance and somehow managing to keep it a secret from me.
Options :

1. ®* manage to keep

2. ¥ managed to keep it a

3. # managed to keeping a

4. ¥ No improvement

Question Number : 128 Question Id : 7773933034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

This house is history personified in all its grandeur, mysteries and unrevealed secrets.
Options :

1. % on all its

2. % atall its



3. % with all its

4. ¥ No improvement

Question Number : 128 Question Id : 7773933034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

This house is history personified in all its grandeur, mysteries and unrevealed secrets.

Options :

1. # onall its
2. % atall its
3. % with all its

4. ¥ No improvement

Question Number : 129 Question Id : 7773933035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

There are no mysteries and secrets that cannot be learned by persons of average intelligence.

Options :

1. # cannot be learn

2. # couldn’t be learnt
3. % cannot be learning

4. ¥ No improvement

Question Number : 129 Question Id : 7773933035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No



improvement’.

There are no mysteries and secrets that cannot be learned by persons of average intelligence.
Options :

1. # cannot be learn

2. % couldn’t be learnt

3. % cannot be learning

4. ¥ No improvement

Question Number : 130 Question Id : 7773933036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I made it with the finest beans and a little secret ingredient of my own.
Options :

1. ¥ myself

2. % itself

3. % oneself

4., % himself

Question Number : 130 Question Id : 7773933036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I made it with the finest beans and a little secret ingredient of my own.
Options :

1. ¥ myself

2. % itself

3. % oneself

4. # himself



Question Number : 131 Question Id : 7773933037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Scientists are working to the secrets hidden in our genome.
Options :

1. #* unlocks

2. ¥ unlock

3. * unlocked

4. # unlocking

Question Number : 131 Question Id : 7773933037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Scientists are working to the secrets hidden in our genome.
Options :

1. * unlocks

2. % unlock

3. * unlocked

4. # unlocking

Question Number : 132 Question Id : 7773933038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She maintains the secret of her long life is that she's never or

Options :
1. # drink, smoked

2. # drank, smoke



3. ¢ drank, smoked

4. # drink, smoke

Question Number : 132 Question Id : 7773933038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She maintains the secret of her long life is that she's never or

Options :

1. # drink, smoked
2. # drank, smoke
3. ¥ drank, smoked

4. # drink, smoke

Question Number : 133 Question Id : 7773933039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The secret is recognizing that a major change is inevitable.
Options :

1. % by

2. % at

3. % on

4. ¥ in

Question Number : 133 Question Id : 7773933039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The secret is recognizing that a major change is inevitable.



Options :
1. # by
2. % at
3. % on
4.9 in

Question Number : 134 Question Id : 7773933040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. China is actually a repeat offender:
B. the world’s first 21st-

C. it unleashed in a similar manner
D. century pandemic, SARS

Options :

1. ¥ ACBD
2. % ACDB
3. % ABCD
4. ¥ ADCB

Question Number : 134 Question Id : 7773933040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. China is actually a repeat offender:
B. the world’s first 21st-

C. it unleashed in a similar manner
D. century pandemic, SARS

Options :

1. ¥ ACBD
2. % ACDB
3. % ABCD



4. %= ADCB

Question Number : 135 Question Id : 7773933041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Covid-19’s health toll — not to mention its economic toll
B. With over 2 million confirmed cases

C. — is too profound to properly judge right now

D. and over 130,000 reported deaths across the world,

Options :

1. ¥ BDCA
2. ¥ BDAC
3. % BACD
4. % BCAD

Question Number : 135 Question Id : 7773933041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Covid-19’s health toll — not to mention its economic toll
B. With over 2 million confirmed cases

C. — is too profound to properly judge right now

D. and over 130,000 reported deaths across the world,

Options :

1. ¥ BDCA
2. ¥ BDAC
3. % BACD
4. % BCAD

Question Number : 136 Question Id : 7773933042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Live in joy, in peace, even among the troubled.”

B. Health comes from the same root as healing.

C. Buddha says, “Live in joy, in health, even among the afflicted.
D. By health, Buddha means wholeness.

Options :

1. ¥ CABD
2. % CBAD
3. ¥ CADB
4. ¥ CDAB

Question Number : 136 Question Id : 7773933042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Live in joy, in peace, even among the troubled.”

B. Health comes from the same root as healing.

C. Buddha says, “Live in joy, in health, even among the afflicted.
D. By health, Buddha means wholeness.

Options :

1. ¥ CABD
2. % CBAD
3. ¥ CADB
4. ¥ CDAB

Question Number : 137 Question Id : 7773933043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Modi has agreed to lift the export ban, examine how much of the drug is needed for different purposes.
B. Clinical trials will take time to deliver a verdict.



C. Yet US President Donald Trump is so convinced that the drug works that he has twisted India’s arm to supply to the US.
D. Medical experts have repeatedly said there is no evidence that Hydroxychloroquine will combat Covid-19.

Options :

1. # DABC
2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 137 Question Id : 7773933043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Modi has agreed to lift the export ban, examine how much of the drug is needed for different purposes.

B. Clinical trials will take time to deliver a verdict.

C. Yet US President Donald Trump is so convinced that the drug works that he has twisted India’s arm to supply to the US.
D. Medical experts have repeatedly said there is no evidence that Hydroxychloroquine will combat Covid-19.

Options :

1. # DABC
2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 138 Question Id : 7773933044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Meritorious
Options :

1. ¥ Praiseworthy
2. % Worthless

3. % Discreditable
4. ¥ Miserable



Question Number : 138 Question Id : 7773933044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Meritorious
Options :

1. ¥ Praiseworthy
2. # Worthless

3. % Discreditable
4. ¥ Miserable

Question Number : 139 Question Id : 7773933045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Aggrandize
Options :

1. % Humiliate
2. ¥ Augment
3. # Debase

4. % Censure

Question Number : 139 Question Id : 7773933045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Aggrandize
Options :

1. % Humiliate



2. ¥ Augment
3. # Debase

4. % Censure

Question Number : 140 Question Id : 7773933046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Crude

Options :

1. # Delicate
2. % Courteous
3. % Boorish
4. % Adept

Question Number : 140 Question Id : 7773933046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Crude
Options :
1. # Delicate

2. ® Courteous

3. % Boorish
4. % Adept
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Question Number : 141 Question Id : 7773933047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Propriety
Options :
1. # Civility
2. * Protocol
3. * Etiquette

4. % Indecorum
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Question Number : 141 Question Id : 7773933047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Propriety
Options :

1. # Civility
2. % Protocol
3. % Etiquette

4. % Indecorum

Question Number : 142 Question Id : 7773933048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Cosmopolitan
Options :

1. ¥ Provincial
2. # Diplomatic
3. % Genteel

4. % Courteous

Question Number : 142 Question Id : 7773933048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Cosmopolitan
Options :

1. ¥ Provincial



2. % Diplomatic
3. % Genteel

4. % Courteous

Question Number : 143 Question Id : 7773933049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Apparatus

2. ¥ Colateral

3. % Negligence

4. % Prehistoric

Question Number : 143 Question Id : 7773933049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Apparatus

2. ¥ Colateral

3. % Negligence

4. % Prehistoric

Question Number : 144 Question Id : 7773933050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Decorative

2. # Clumsiness

3. % Cultivaetion



4. % Performance

Question Number : 144 Question Id : 7773933050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Decorative

2. # Clumsiness

3. % Cultivaetion

4. % Performance

Question Number : 145 Question Id : 7773933051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Embellish

2. % Harmonize

3. % Pulchritude

4. ¥ Symmetary

Question Number : 145 Question Id : 7773933051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Embellish

2. % Harmonize

3. % Pulchritude

4. ¥ Symmetary



Question Number : 146 Question Id : 7773933052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Generocity

2. % Appropriate

3. % Philanthropy

4. % Caparison

Question Number : 146 Question Id : 7773933052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Generocity

2. % Appropriate

3. # Philanthropy

4. % Caparison

Question Number : 147 Question Id : 7773933053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

John and Mary are tying the knot this summer in France.
Options :

1. # To entangle

2. % To get married

3. % To travel

4. % To disappear



Question Number : 147 Question Id : 7773933053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

John and Mary are tying the knot this summer in France.
Options :

1. # To entangle

2. % To get married

3. # To travel

4. # To disappear

Question Number : 148 Question Id : 7773933054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Katie is pretty and has such a sweet disposition—she's as cute as a button.

Options :

1. # Fair in complexion

2. # Highly educated

3. % Pleasing in appearance

4. # Lacking intelligence

Question Number : 148 Question Id : 7773933054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Katie is pretty and has such a sweet disposition—she's as cute as a button.

Options :
1. #* Fair in complexion
2. % Highly educated



3. % Pleasing in appearance

4. # Lacking intelligence

Question Number : 149 Question Id : 7773933055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

How much sugar did you give the kids? They're bouncing off the walls!

Options :

1. # To fight among themselves
2. # To lose sensation

3. # To suffer toothache

4. ¥ To be highly energetic

Question Number : 149 Question Id : 7773933055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

How much sugar did you give the kids? They're bouncing off the walls!

Options :

1. #® To fight among themselves
2. # To lose sensation

3. # To suffer toothache

4. ¥ To be highly energetic

Question Number : 150 Question Id : 7773933056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit the hay



Options :

1. ¥ To go to bed
2. % To punish
3. # To steal

4. # To arrange

Question Number : 150 Question Id : 7773933056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit the hay
Options :

1. ¥ To go to bed
2. % To punish
3. #® To steal

4. # To arrange

Question Number : 151 Question Id : 7773933057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Reach an accord

Options :

1. # Reach the destination
2. % To achieve agreement
3. # To have different views
4. % To be hostile

Question Number : 151 Question Id : 7773933057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Reach an accord

Options :

1. # Reach the destination
2. ¥ To achieve agreement
3. % To have different views
4. # To be hostile

Question Number : 152 Question Id : 7773933058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Of or resembling a lion or lions.
Options :

1. # Bovine

2. # Canine

3. % Leonine

4. % Feline

Question Number : 152 Question Id : 7773933058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Of or resembling a lion or lions.
Options :

1. # Bovine

2. # Canine

3. % Leonine

4. # Feline



Question Number : 153 Question Id : 7773933059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who compiles dictionaries.
Options :

1. # Cartographer

2. % Calligrapher

3. # Radiographer

4. ¥ Lexicographer

Question Number : 153 Question Id : 7773933059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who compiles dictionaries.
Options :

1. # Cartographer

2. # Calligrapher

3. % Radiographer

4. ¥ Lexicographer

Question Number : 154 Question Id : 7773933060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A child born after the death of its father.
Options :

1. ¥ Posthumous

2. % Obituary



3. # Callous
4. % Venial

Question Number : 154 Question Id : 7773933060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A child born after the death of its father.
Options :

1. ¥ Posthumous

2. % Obituary

3. # Callous

4. % Venial

Question Number : 155 Question Id : 7773933061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who dislikes, despises, or is strongly prejudiced against women.
Options :

1. ¥ Miscreant

2. ¥ Misogynist

3. # Misanthropist

4. ¥ Misogamist

Question Number : 155 Question Id : 7773933061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who dislikes, despises, or is strongly prejudiced against women.



Options :

1. * Miscreant

2. ¥ Misogynist
3. % Misanthropist

4. % Misogamist

Sub-Section Number : 2
Sub-Section Id : 777393154
Question Shuffling Allowed : Yes

Question Id : 7773933062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Magma is the molten or semi-molten natural material from which all igneous rocks are formed. Magma is found beneath the surface of the Earth,
and evidence of magmatism has also been discovered on other terrestrial planets and some natural satellites. Besides molten rock, magma may
also contain suspended crystals and gas bubbles. Magma is produced by melting of the mantle or the crust at various tectonic settings, including
subduction zones, continental rift zones, mid-ocean ridges and hotspots.

While the study of magma has historically relied on observing magma in the form of lava flows. Most magmatic liquids are rich in silica. Silicate
melts are composed mainly of silicon, oxygen, aluminum, iron, magnesium, calcium, sodium, and potassium. The physical behaviours of melts

depend upon their atomic structures as well as upon temperature and pressure and composition. Viscosity is a key melt property in understanding
the behaviour of magmas. More silica-rich melts are typically more polymerized, with more linkage of silica tetrahedra, and so are more viscous.

Low viscosity leads to gentler, less explosive eruptions. Magma develops within the mantle or crust where the temperature and pressure
conditions favor the molten state. After its formation, magma buoyantly rises toward the Earth's surface. As it migrates through the crust, magma
may collect and reside in magma chambers. Magma can remain in a chamber until it cools and crystallizes forming igneous rock; it erupts as a
volcano, or moves into another magma chamber. There are two known processes by which magma changes: by crystallization within the crust or
mantle to form a pluton, or by volcanic eruption to become lava or tephra.

Sub questions

Question Number : 156 Question Id : 7773933063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the key melt property in understanding the behavior of Magmas?
Options :



1. % Pressure
2. % Composition
3. % Viscosity

4. # Temperature

Question Number : 157 Question Id : 7773933064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magma develops within—

Options :

1. # mantle

2. # crust

3. % cither of them

4. # both of them

Question Number : 158 Question Id : 7773933065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most magmatic liquids are rich in silica. Which element is not found in silicate melts?
Options :

1. % sodium

2. # magnesium

3. * iron

4. ¥ barium

Question Number : 159 Question Id : 7773933066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magma doesn’t contain —

Options :

1. # Crystal

2. % Gas bubble

3. % Cesium



4. * Molten rock

Question Number : 160 Question Id : 7773933067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magma is produced by melting of the mantle or the crust at :

(a) continental rift zones (b) mid-ocean ridges and hotspots (c¢) various tectonic settings
Options :

1. * Only (a)

2. % Only (b)

3. % Only (¢)

4.+ all (a), (b) and (¢)

Question Id : 7773933062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Magma is the molten or semi-molten natural material from which all igneous rocks are formed. Magma is found beneath the surface of the Earth,
and evidence of magmatism has also been discovered on other terrestrial planets and some natural satellites. Besides molten rock, magma may
also contain suspended crystals and gas bubbles. Magma is produced by melting of the mantle or the crust at various tectonic settings, including
subduction zones, continental rift zones, mid-ocean ridges and hotspots.

While the study of magma has historically relied on observing magma in the form of lava flows. Most magmatic liquids are rich in silica. Silicate
melts are composed mainly of silicon, oxygen, aluminum, iron, magnesium, calcium, sodium, and potassium. The physical behaviours of melts

depend upon their atomic structures as well as upon temperature and pressure and composition. Viscosity is a key melt property in understanding
the behaviour of magmas. More silica-rich melts are typically more polymerized, with more linkage of silica tetrahedra, and so are more viscous.

Low viscosity leads to gentler, less explosive eruptions. Magma develops within the mantle or crust where the temperature and pressure
conditions favor the molten state. After its formation, magma buoyantly rises toward the Earth's surface. As it migrates through the crust, magma
may collect and reside in magma chambers. Magma can remain in a chamber until it cools and crystallizes forming igneous rock; it erupts as a
volcano, or moves into another magma chamber. There are two known processes by which magma changes: by crystallization within the crust or
mantle to form a pluton, or by volcanic eruption to become lava or tephra.

Sub questions



Question Number : 156 Question Id : 7773933063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the key melt property in understanding the behavior of Magmas?
Options :

1. * Pressure

2. % Composition

3. ¥ Viscosity

4. % Temperature

Question Number : 157 Question Id : 7773933064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magma develops within—

Options :

1. # mantle

2. # crust

3. % cither of them

4. % both of them

Question Number : 158 Question Id : 7773933065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most magmatic liquids are rich in silica. Which element is not found in silicate melts?
Options :

1. # sodium

2. % magnesium

3. % iron

4. ¥ barium

Question Number : 159 Question Id : 7773933066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Magma doesn’t contain —
Options :

1. % Crystal

2. # Gas bubble

3. % Cesium

4. % Molten rock

Question Number : 160 Question Id : 7773933067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magma is produced by melting of the mantle or the crust at :

(a) continental rift zones (b) mid-ocean ridges and hotspots (¢) various tectonic settings
Options :

1. # Only (a)

2. % Only (b)

3. % Only (¢)

4.+ all (a), (b) and (¢)
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Question Number : 161 Question Id : 7773933068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=R o @ gRITew Weg U SR &1 99 Biford-
Options :

1. ® gP

2.¥ ¢4

3. % g

4. % g

Question Number : 161 Question Id : 7773933068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrAfRed & @ geaTea Teg B SUIT Bl I DifoTL-
Options :

1. % gP

2.¥¢Yq

3. % g

4. % g



Question Number : 162 Question Id : 7773933069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed ¥ ¥ dH g &1 994 BIfoTe-
Options :

1. % Ty

2. % g

3. ¥ U

4, % Ygl

Question Number : 162 Question Id : 7773933069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad # ¥ ¥ WIsc &1 g BHIToTe-
Options :

1. % Ty

2. % T[q

3. ¥ U

4. % YgI

Question Number : 163 Question Id : 7773933070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAAfaRad 7 Q 19-91 S o T8l 82
Options :

1. =3

2.% Y

3.+ 9

4. %




Question Number : 163 Question Id : 7773933070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefafad § 4 S1H-91 S oo T8 22
Options :

1. %X

2.% Y

3.9

4.9

Question Number : 164 Question Id : 7773933071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR o ¥ SRR <1eg § HIH-91 9HN 87
Options :

|. % Sgdlfe qary

2. ¥ Y JHY

3. % g gA™

4. % fg 9ur™y

Question Number : 164 Question Id : 7773933071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAAfRed 7 3 TuidR wsg H HH-91 991 82
Options :

1. % qgdlfe Iury

2. ¥ dUY JHY

3. % Gg 9HN

4. % fg 9ur™y

Question Number : 165 Question Id : 7773933072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HTH BT T Id T Vg &l FAMIRAIT A Y RTHed & 2
Options :

1. % g™y

2. % G

3. % JHNY

4. fopar

Question Number : 165 Question Id : 7773933072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT BT 19 I dTd g Bl HETIEd & 3 1 H5d g 2
Options :

1. % g

2. % G

3. % gHMN

4. ¢ T

Question Number : 166 Question Id : 7773933073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Xeg | (AEfied o 9 o w32
Options :

1. ¢ T[0T iy

2. % Ui HfYy

3. % g I

4. % o Y

Question Number : 166 Question Id : 7773933073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TS Reg | (AEfeied o 9 o w32
Options :

1. ¢ TSy

2. % Ui HfYy

3. % g I

4. % o Y

Question Number : 167 Question Id : 7773933074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for=el al yTeTah & regt @bt FAreanR o wrsal f T g8 ©, S G ol A 5|
Options :

1. % fqpRI Treg

2. ¢ IR g

3. ¥ dH Wesq

4. % fgIHH Teg

Question Number : 167 Question Id : 7773933074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgt g1 Ui & regt 1 fArcTen o sl o 7o 8% §, 38 G ol A 5 |
Options :

1. % fqpRI 2ea

2. ¥ YR e

3. % dOH sq

4. % AGITHA UK

Question Number : 168 Question Id : 7773933075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Hfaar "R g1, 7 R &) 79 o fAafafaa 3 3 fergs gry ford 18 82
Options :

1. ® I\YR) g faaax

2. % JREM St

3. ¢ DRYRRU Ta

4. % Hgled! aaf

Question Number : 168 Question Id : 7773933075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiad "R B, 7 R B 79 i Ffefad 7 9 fovdds gr1 fordt 718 82
Options :

1. % IR} R faqear

2. % IRG off

3. ¢ TfIEIRRO

4. % HgTQd! gHi

Question Number : 169 Question Id : 7773933076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fffed & ¥ Yo 9 arel 2se &1 999 Sifv-
Options :

1. % 3FTENT

2. ¢ Bl

3. % iRl

4. % giaidia

Question Number : 169 Question Id : 7773933076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRed o @ Y ad-it aTel Teg &1 T Hfore-




Options :

1. % 3(FTENT
2. ¥ HisAl
3. % gi¥&I
4. % giaidia

Question Number : 170 Question Id : 7773933077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRad & 9 U 7T Wreq-gv & Tg! 31-1g BT I0 Bifore-

HqUT - HdU]
Options :

1. % CUpAT - g1
2. % g - ol

3. ¢ A4l - <UhAT
4. % gUI-gPR

Question Number : 170 Question Id : 7773933077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o 9 fau 7 2ree-g & T 31d-3g o1 T8 Hifor-

HqUl - HdU]
Options :

1. * CURAT - AT
2. % 5o -¥dl

3. ¢ Al - <UhAT
4. % qUI-GPHR

Question Number : 171 Question Id : 7773933078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e & 9 ool &1 fae 2reg $1F-91 52
Options :

1. % fqmior

2. ¢ &

3. % oA

4. % 3fieredt

Question Number : 171 Question Id : 7773933078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRI 4 A Aot &1 e s P12
Options :

1. % fgior

2. ¢ fAES

3. % IS

4. % 3fieredt

Question Number : 172 Question Id : 7773933079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foiRad & @ sRiTTa/aud fawed &1 9a- Pifo-
Options :

1. % 9R Y - I8

2. % HYOHH XY - HY

3. % Qa9 - fide

4. ¢ SIYE I - 3gYd

Question Number : 172 Question Id : 7773933079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ao ® O sriTd/and famed &1 99+ BIfoTe-
Options :

1. % dR Y - 34T

2. % YD I - Y

3. % Qid 3 - Fde

4. QYA Y - 3gYd

Question Number : 173 Question Id : 7773933080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad & 9 foT U a1 & ol T Xieg, &1 99 Hifol-
SR IR e fobar T 8-

Options :

1. % 3HJdd
2. % 3%
3. ¢ 3{Tehid
4. % 3THId

Question Number : 173 Question Id : 7773933080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefaa o T faT 7T gty & fore Te X1eg &1 99 PifoTt-
519 IR A fobar T 8-

Options :

1. #® 3{q¥ad
2. % 3o
3. ¢ 3Tehid
4. % TSI



Question Number : 174 Question Id : 7773933081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HId T yafaaTdl Weg Efefad & 9 oH-a1 82
Options :

1. % grel

2. ¢ Hadl

3. % fay

4. % Gqdh

Question Number : 174 Question Id : 7773933081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At BT Yaigar veg AAfiafead 7§ 9 oH-91 82
Options :

1. % arel

2. % Hadl

3. % fag

4, % G

Question Number : 175 Question Id : 7773933082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffoTREd & 9 31 a1 dTel Weq BT T BIfoIU-
Options :

1. ® FTHRI

2. % BTN

3. ¥ Theldeyg

4. % IHYHCE

Question Number : 175 Question Id : 7773933082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

=R o ¥ 3RS ad aTel Ueg o1 T BHITorg-
Options :

1. % JFATHRI

2. % GIBIaR

3. ¥ Thclde=yg

4. % IHYHCE

Question Number : 176 Question Id : 7773933083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferRad o U Iuged Weg BT T Bifolu-
o1 < fhar T B |

Options :
1. % geU-a
2. % 3faffid
3. ¢ affid
4. % gHuflg

Question Number : 176 Question Id : 7773933083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI & 9 Iugad sg &1 9 HifoTd-
fSTeTepT G T AT &1 |

Options :
1. % gau
2. % 3fafia
3. ¢ afird
4. % gHUig




Question Number : 177 Question Id : 7773933084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foraft &1 e 31UaT R &1 T Udhe &l 39 Hed gl
Options :

1. % JHfUBI PRSP

2. # UG HdRP

3. % JUQH PRSP

4. ¢ GeIYT HRB

Question Number : 177 Question Id : 7773933084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foraft 1 A 31aT HRA &1 T Udhe &l 39 Hed gl
Options :

1. % 3D BRD

2. % JUIQld dRP

3. # JUQH PRP

4. Gy HRb

Question Number : 178 Question Id : 7773933085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied ' 9 ®F-91 399 I3Y arae 9o g2
Options :

1. % 3Ydb]

2. ¥ IR

3. % BRI

4. % U]



Question Number : 178 Question Id : 7773933085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiied & 9 ®F-91 390 I3 e 9o g2
Options :

1. #® 3YdbI

2. ¥ IR

3. % gk

4. % AU

Question Number : 179 Question Id : 7773933086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HGTR" 1 TlieiT] Qg EfeiRad § & o1 gRT?
Options :

1. ¢ HGIRII

2. % HEIREL

3. % HEIREA

4. % HgIRMI

Question Number : 179 Question Id : 7773933086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"TIRTRIA" T TTolT R1eg FEforRad & & o gR
Options :

1. ¢ HIRII

2. % HEIREAL

3. % HIRMAT

4. % HelIRMI

Question Number : 180 Question Id : 7773933087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feferRad A 2 = foar mar oy {59 &rd &1 82
I8 SO ol & A

Options :

1. % T HidSId Bl
2. % gdeddg Yo [d

3. % 3 YdbTd

4. ¢ BdedHIdY BId

Question Number : 180 Question Id : 7773933087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafRad 7 9 = fear mn g g wra w182
9g SO ol § A

Options :
1. % R Hfdsd dhra
2. ¥ gdeqyg YaoId

3. % AT YdpIcd
4. ¥ BIETHEAH BT

General Hindi2
Group Number : 10
Group Id : 77739359
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 777393132

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 777393156

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7773933088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfeRad A T Udhae Wsg BT I Hifole-
Options :

1. % YT

2. ¥ g

3. % R(d

4. % 18

Question Number : 181 Question Id : 7773933088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ 9 Udhaa- Usg &1 99 Hifole-

Options :




Question Number : 182 Question Id : 7773933089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 9 9T & bR b1 T HIfoIT-

RGBT A HETHH W5 |
Options :

1. ¢ Hqared

2. % HHATH

3. % 3HHATH

4. ® Y[qdrg

Question Number : 182 Question Id : 7773933089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRed /9 9Ty & YbR 1 T HIfoIT-
T A MDA TR |

Options :

1. ¥ HgardA
2. % HHaArA
3. % JHHATH
4. % H[ddrq

Question Number : 183 Question Id : 7773933090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAmferRad & U 91 & UBR o1 99 DIfoIT-
Uobol HE-Td Rl § dfh STbT aTH I T8t ATl

Options :

1. % iy ary

2. ¢ IYad a1
3. % A Il

4. % fafg a1

Question Number : 183 Question Id : 7773933090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ O 9199 & TSR &1 999 BHIToTe-

Uohol Hg-Td Bl § Afdhd 39T ATH I 8! fHretdr|
Options :

1. % oy arey

2. ¢ TYad a1

3. % ORI dI|

4. % fafy a1y

Question Number : 184 Question Id : 7773933091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR § & Yohdardd aTet &1 g Bifeie-
Options :

1. ¢ e 3HA UTS ferad! ot ST B I B Il |
2. % Y 3fHIH UTS ford IgT g

3. % T 3HIH g UTS fora 81 82

4. % 3R 3AHIH UTS fergdr g




Question Number : 184 Question Id : 7773933091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFEfaRad © 9 S dara® arad &1 99 Hifoe-

Options :

1. ¢ T Y UTS feradT o ST S I 1 ST
2. % TG 3HH UTe fora g1 8|

3. % T (B I8 UTS ford X1 82

4. % 3R 3fHIH UTS fer@ar g

Question Number : 185 Question Id : 7773933092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=feRad & O Y a1 aTel a1 BT I BHifoTd-
Options :

1. % 98] 38 & [T o= Ueiel |

2. % 34 aY il B & e A SO E8 ||

3. % T ST XY o forg uRveg ol

4. ¢ 3MUH! I g g1

Question Number : 185 Question Id : 7773933092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ < e+t aTct AT 1 T8 BHifor-
Options :

1. % J51 35 & forw o ey g |

2. % Y q¥ Ul ST Bt G- T ST 55 o

3. % T ST XY o forg URieg; ol

4. ¢ 39! G e g

Question Number : 186 Question Id : 7773933093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=ferfead § T gererT "3Rug e o1 o 31 g2
Options :

1. % 3{B] dRg ¢l

2. % §gd YD THdId] BT

3. % d B

4. ¥ TRd®

Question Number : 186 Question Id : 7773933093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRad & & GeTerT "3RUg g BT T 37 57
Options :

1. % 3wl oRE <l

2. % §gd 3D THdId] BT

3. % QT BT

4. ¢ tRd®s

Question Number : 187 Question Id : 7773933094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffeRad o 4 fog Aopifaa/ggTar &7 ofd "R gid 8" 82
Options :

1. v AR g

2. % g P @M

3. % Hg oI TGl

4. % UM 1% g

Question Number : 187 Question Id : 7773933094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrfeRad o 4 fog Aopifaa/ggTar &7 ofd "R Bid gl 82
Options :

1. ¢ 3R g

2. % g P @M

3. % Hg oI TGl

4. % UM 1% g

Question Number : 188 Question Id : 7773933095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTaRT "HETHRT HaMT" &1 fAmfaiad & 3 or a1 g2
Options :

1. % fayar g

2. % §gd gHS BT

3. ¢ Gd ASTS-ZTST HRAl

4. % UG- & for faa=r g

Question Number : 188 Question Id : 7773933095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORTaRT "HETHRT HaMT" &1 fAefaRad & 3 &1 o7 g2
Options :

1. % fayar g

2. % §gd gHS gl

3. G TST&-FTST Bl

4. % U g & ford fa=r g

Question Number : 189 Question Id : 7773933096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAAfaRed 7 9 S19-31 dieifad o1 U=fad ¥4 82
Options :

1. % THo ¢ Sl T, I & a9 HRA UTal|

2. ¥ THS < ¢ IS S1 UTe, HiT T I AR 1|

3. % THa ¢ SO Sl UTdl, U1 T ad AR STl =
4. % THS P IS U, T T a9 ARA SraT|

Question Number : 189 Question Id : 7773933096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafad 7§ e9-a1 dieifad o1 uafad T u g2
Options :

1. % g ¢ ISl AT, I T dd TR YTl

2. ¥ THS < ¢ 9581 UTa, T T I AR 3T |

3. % e ¢ 9SSl UTdl, U1 ol a9 AR ST araT |
4. % THs b ISl e, T 1 99 ARA 13T

Question Number : 190 Question Id : 7773933097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et "8 o1, e T BT FfcRad & 3 o 31 g2
Options :

1. % T A TR QR HH ITg M

2. ¢ BT A &I YGHM T 8|

3. % QI A7 P 31 JH ugan g |

4. % S 91ell Afdd $ -To! DR Fabdl|

Question Number : 190 Question Id : 7773933097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRt "8 o, §fea T 1 FEfeiRad & 4 o 3 g2



Options :
1. % dIc A W GRMET S 7G|
2. ¢ B A9 &I A 1t 8|

3. % BT 910 1 31/ JHT ugaat g
4. % S AT Afad S ol HR Ahdl|

Question Number : 191 Question Id : 7773933098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaied o 9 forg Aeifadgera &1 o ISt ot IR 3T feardT a1 giar &2
Options :

1. % gad Bl {1 DT GERI|

2. % g S1A-81d dl § UTd-uTd |

3. % dd 3W@l, do 1 YR <] |

4. ¥ 3¢ UG 31T Jd W W5 |

Question Number : 191 Question Id : 7773933098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ fea deifda/aera’ o1 arf it doh &R a1 faxgrar 3 gidr g2
Options :

1. % qd P! [+ &1 I8N

2. % TH I[@-31d al H U1d-uTd |

3. % T &I, dd B YR ¢l |

4.+ 3¢ UG 3{TeT Jd W IS |

Question Number : 192 Question Id : 7773933099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifYeafad &1 G, gAY, e 3R ozl gU GBIVl & o fSH HINT SUHRUT &t STaRgdhdl 8kl §, I8 (HHead § I &1 Hed 82

Options :




1. ¥ HRb I faufad
2. % RO g

3. % DT APR

4. ¢ TR fag

Question Number : 192 Question Id : 7773933099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1 G, JaY, TeC 3R Yorel §U TN & g for TS SUSHRUI DT STa=IHdl Bl 5, 376 HECad 8 I 31 Hgd 67
Options :

1. % DR I faHldT

2. % Ry g

3. % BDI ABR

4. ¢ TR g

Question Number : 193 Question Id : 7773933100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad o I foy fawey o fovm fagl &1 uaim ue forar man g2
Options :

1. % dcil, BT ad ol HRIedT &1 fad S|

2. % AP 1 UG 184 & W () B 7 U o I T H32

3. ¢ Sfia A SIHLTRAT, YE-g@ SR A1H-81H o &1 38d & |

4. % IAH- TH 81U T -5 Jol1g oIl

Question Number : 193 Question Id : 7773933100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFeffed o 9§ fod fasea # fovmm faegt o1 v gt fbar man g2

Options :

1. % qdelt, BT dd ST HRATAT BT fed ol |



2. % EUS dl Ug™HI d18d §: W (SH) &1 7 Ug ol d &1 Hx?
3. ¢ OGO SfF1-TRAT, Y- SR arH-g1H al g1 gd 8 |
4. % TRl TP 1Y 9 Tg] SolTs !

Question Number : 194 Question Id : 7773933101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et & 9 oH-a1 fowey i<t & foxm el oot ife & 71 s 82
Options :

1. ® fqeRo g

2. ¢ GGIaRM

3. % 3ex fag

4. % ol fag

Question Number : 194 Question Id : 7773933101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfiad & @ BH-a1 faw e fR=<h & favm ol  ife § 7 s 22
Options :

1. % foeRu fog

2. ¢ g™

3. % IR g

4. % G g

Question Number : 195 Question Id : 7773933102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STec, T 41 &) M Trsal & &g fAmfoiad & 9 fooy favm fawg &1 uainT fasan e 82
Options :

1. ¢ ol g

2. % I g



3. % qrad g
4. % g g

Question Number : 195 Question Id : 7773933102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T1ee 1 a1 &) gAY Treal & offe fRrAfeiaa o 9 for favm famg &1 g fea S g2
Options :

1. ¢ gIoish g

2. % I g

3. % O9d fag

4. % g™ g

Sub-Section Number : 2
Sub-Section Id : 777393157
Question Shuffling Allowed : Yes

Question Id : 7773933103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frAfRId eI 7 eaTgde 31ema R U & IR S IfoTE-

R & &) GRIad WH &-TUH JEWBR AR fgdia anifa | gEeer f gd sita & I g Tep A ol 3ifofd Gufty & ofiR gofa
gdqM Sitad &1 gard fAYfd 81 9 TSR FUTd Pt HoRdT 3R HIferd URY & W AT ¥ ST 3R HH-TAl § 9ad ol §, 31 34t
YR FHNT BT BT Joifa I Wivfy smur o ulkafda 8 Sirar 8 | Iad Iiifa I faemi &1 71 = firedt 8 oiR o faeR o= &t
3% BTN b 7T YR X &

ORUTTAG: A &1 FAT0T glal § | 3TER SSTRIVNTE fadat = foral §-HeTh d SR & U a6+ A1 I U1 Udlid gidm oT, A iR &1 gadt
ST T 81 1° add: aRA W g Sfia St Arderdt | | Iza safad Tars St 2T 8, Wifad 8 | gaTia ¥ wafdd gt 1et, garst Ht gariyd grar
& TR 9 YT 9 Y IR ST & | fagR o ot Ifoki 31&R: I & o Gaiva & oftel g8 Wl 81 d=1-URORT 9 U &1 obdl &, IR IR-
fator safaq & oo RMMREARI

STIATRIE TRORT, URART 3R URTRUT 3T Had IRUM ¢ Tavd &, TR SU®T 3ol o] BR Jabdl; a8 T ! STRIIBR H U I8! ardl|
faa-faRiy & RIY-aRa g ¥ R I W IRF-Tohe JuRd 51 91l &, Tifds Ffe X P $T TP 9 § | 3 Afadl ¥ e T
ORAR, 3% URARI ¥ TP e, 3D Pl I TP SIid a1 JHS IR SABD Sl 3R FHIS-GHGRI F e g1 T P S 5|

Sub questions




Question Number : 196 Question Id : 7773933104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIe TR &1 (AEfeiRad o 9 I 2 o1 9= Hifor-
Options :

1. ¥ gahd ud gay fayfa

2. % &R IARA-Hhe

3. ¢ TRF- AT SR T |

4. ® IR Afad

Question Number : 197 Question Id : 7773933105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfefad # @ <Fmfor &1 fadm Teg HH-a1 82
Options :

1. ® gay

2. % gy

3. % Al

4. ¢ faEg

Question Number : 198 Question Id : 7773933106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN TR F SR, - fI= 7 9y T Ay & Fefafd & & 59 yuyifad srar g2

Options :

% % Yfe fdq-faRy o1 afa Aol &, @ R AP & IRA W Yhe IR §1 I 5, Rilfcs Sl dhadt Y BT T TR °cb gl gidl
|

2. ¢ e AHKI-faRIY &1 IRA FHER &1, A QY P IR TR Yhe IR 81 STl 5, HRiifeb SAfeki G AP BT Th 3HTeRD °I<h Bidl 6|

3. % g Afe-faRIY 1 IRA B3R &1, A YR Y BT U MRS U gidl |

4. % Yfg -y BT IRA FHGR A B, @ QR AP BT IRA HHGIR g1 Sl &, Riob SAfek] GY Y BT T SHTIRD °CH Bl g




Question Number : 199 Question Id : 7773933107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIGA TR & e A 9167 “Td Jdd Tl o faaR| &I 5 o= fidd 8, 79 o [TaR 7% &1 3fwd &l § ORd $-d g 1
f=fafad § § foyg yeR &1 a2

Options :

1.« oy are

2. % WA AT

3. % ggod die

4. % YYD I

Question Number : 200 Question Id : 7773933108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & IR, e & aia-Fafor & Fafifed # 3 feger arer g g?
Options :

1. % DR Td &TId P

2. % URAR Td $ I

3. ¢ GUWPR, &I, URAR, Hl, Sl Td JHTS |

4. % STfd Td TS 1|

Question Id : 7773933103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

TR TRl T ATTYd D 3T R Ul b IR AfoTT-

AN & & G2ad WY §-U4H JEBR 3R fgdia Taiia | GEnR Hf gd sfiaq &t Tiitfa @ b d! o Sifoid Jui § SR Toiia
JIHT Sfia &1 g fufd 31 o TR FuTd &t HERAT 3R HIeRd URY & W= A § ST R HHAIA H 96 Sl §, 31 39t
THR HHATN BT SIS T I W0 3THT H gRafdd 81 SITaT 8 | Tadd Feiiie 9 faar] &1 =5 o= fidd § 8fR o/ fdaR 7= &1
3% Bl & fog URT X &

ORUMHA: GaRA o1 A0 1T ¢ | ST gorRiyaTe fadd! = foRaT 5-AgTeid SHR & Uty 96+ {1 ¥ UHT Udid gidm T, AT HiaR &1 gadn
ST T 81 1° IXdT: A W 1 Sita Bt Aridhdl § | IR=a safad THIS Bi UMM 8, Wfad 8 | JaTad ¥ fad gt Tat, Jarsl Ht Jarid grar
& 3TR 39 ATy ¥ Y IR S 5 | FagR St 1 Ifa Sfare: 9 ¢ [ o & oie g3 Wl 81 IX-TRWRT § UI 81 Jabd &, IR aa-




fomfor safe & smm R AR FA I

TR TRURT, URART 3R IRTUT I8 Had UROM ¢ Tahd &, TR SUBT 3ol gl B Tabd; 98 fad Bl STRISR | U el gidl
Hfo-fa¥y & RIRE-aRE g1 ¥ QX AP R IRA-The JURRI 8l 91 5, i i G Y 1 T 9 g | 3P sAfaa & faa i
URAR, 3% URART Y TP He, 3 Hell Y T Siifd I GHTS SR 3T Slfadl R FHS-GHER J I g1 T P s 5 |

Sub questions

Question Number : 196 Question Id : 7773933104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIG T &1 Fefafad § @ 3fd e &1 9o sifon-
Options :

1. % Japd Ud gaH fayfa

2. % 3M&RT: IANFA-Fahe

3. ¢ TRF- AT SR T |

4. % IRAGH Al

Question Number : 197 Question Id : 7773933105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRad & @ «<fafor &1 f9dm Weg HH-A1 82
Options :

1. * goIH

2. % gy

3. % -l

4. ¢ fawy

Question Number : 198 Question Id : 7773933106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QRIS TR & STHR, Afki-fa=S &1 IR G Y Bl IR & 9 B8 gHIfdd B 82
Options :

1. % gi¢ gfa-faRy &1 IR Hored 81, dl QX AP & IR R Febe IR B ST 8, b SAfek] chadd AP bl Ueb 3MTeReb UCh g1 ordll



gl

2. ¢ TS AfG-fARIY 1 IRA HHEIR g1, Al R IAY & ARA WR Fobe IURYd 81 SITl &, Hi b Afekd G Y BT Teh MR UTh oIl 6|
3. % g Afo-faRIY 1 IRA HAR g1, A YR AP BT U RSP G¢h gidl |

4. % YfE Afd-fIRY BT IRA FHSR A 1, T IR AP BT IRA HHGIR g1 9l &, Ficb AT G Y BT TP SHTIRP P gl 5

Question Number : 199 Question Id : 7773933107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIGd TR & e A 9167 “Td Fod Tl o faaR| &1 75 fa=n fdd 8, 79 o [9aR 7™ &1 sfwd &l § ORd $vd g 1
TRy o ¥ fod IR &1 a1 82

Options :
1.« iy arey

2. % IR T

3. % gYod die

4. % FEYNYPH TR

Question Number : 200 Question Id : 7773933108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & R, fad & aia-fFAuafo & Rafafed & S fege arrer garg?
Options :

|. % HWHR Td T BT

2. % URAR Td o 1|

3. ¥ GHWR, &I, URAR, $d, S Td TSl BT |

4. % W1 Td 9HS BT




